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St Aloysius College (Autonomous) | o

Mangaluru
B.Com. Semester III- Degree Examination
February -2022

FINANCIAL ACCOUNTING - III

Time: 3 hrs.

Max Marks: 100
SECTION - A

Answer any FIVE of the following.

(5x2=10)
What are the objectives of Branch Accounting?

Pass journal entries in the books of Head Office for the following transactions:

a) Goods of the value 210,000 transferred from Chennai Branch to
Hyderabad Branch under the instruction of Head Office.

b) Chennai Branch collected ¥ 5,000 from a Chennai customer of the Head
Office .

3. Write a short note on ‘Minimum Rent’.

State whether the following statements are True or False, giving reasons.

a) Goods required by Dependent Branches are directly purchased from
suppliers.

b) Independent Branches have to compulsorily send a copy of financial
statements to the Head Office at the end of financial year.

5. State and explain the features of Hire purchase system.

ST aLOVSIUS corieee
6. What do you mean by installment purchase system? T ALOYSIUS COLLEGE

W lBRARY |
7. State any two objectives of IFRS? MANGALURU - 575 o3

]

N

SECTION - B

Answer any FOUR of the following. (4x12=48)
8. The Riders Ltd. Sold a Motor Cycle on instalment System to Mr. Amruth on

1.1.2015. The cash price was % 74,500 and the payment is to be made as

follows:

Z 20,000 on Delivery, and the balance in three instalments of ¥ 20,000 each at

the end of each year. Riders Ltd charged interest @5% p.a. Mr. Amruth

charged depreciation on the Motor Cycle at 10% p.a. on the diminishing

balance.

You are required to prepare Motor Cycle Account, Riders Ltd Account and

Interest Suspense Account in the books of Mr. Amruth.

9. a) What is ‘Accounting Standard”? What are the objectives of Accounting
Standard? (8)
b) Write a note on Accounting Standard Board. 4
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10. A Head Office at Mumbai has
books on 31% December each year. -
passed in the books Head Office for the following transactions;

a) Remittance of ¥ 50,000 by Kolkata Branch on 22-12-2019 is

the Head Office on 05-01-2020.
b) Goods worth 2 1,00,000 sent by

branch on 06-01-2020.
c) Depreciation at 10% is to be provided on Machinery at Kolkata Branch

costing ¥ 70,000 the account of which is maintained in the books of Head

Office.

d) Kolkata branch pa
the Head Office.

e) Goods costing 40,000 purchased by Head Office from Rajiv Brothers but
the payment was made by Kolkata Branch.

f) Kolkata Branch office collects the amount of calls in arrears of 2 30,000 on
behalf of the head office.

11. Patil wrote a book on Accountancy and got it published by S. Chand & Company

a branch at Kolkata. The company closes its

What adjustment entries are required to be

received by

Head Office on 20-12-2019 reaches the

id 2 1,500 dividend to a local shareholder on behalf of

on the following terms:
The publishers were to pay a royalty at 20% of the sale proceeds of each year,

subject to a minimum rent of ¥ 10,000 p.a. The deficiency in the sales if any of
the first year could be recouped out of any excess in the second year. The
publishers had the right to ask for a revision of the book which the author was
obliged to complete in six months. Delay was subject to a fine of ¥ 500 per
month. Also the agreement of minimum rent was not to apply in that year. The
details of the sale are given below:

Year No. of Copies sold Price per copy
2015 2,000 220
2016 4,000 220
2017 5,000 225
2018 2,000 225
2019 6,000 2 30

The publisher sent in a request for a revision on 1-1-2018. The author sent the
revised manuscript on 1% August 2018.

Prepare necessary ledger accounts in the S. Chand & Company.

Gupta purchased a machine under Hire Purchase system from Pankaj. The cash

price of the machine was ¥ 15,500. The payment for the purchase is to be
made as under:

12.

On signing the contract -2 3,000
End of the first year-Z 5,000

End of the second year-2 5,000
End of the third year-2 5,000

Pa - . .
SS necessary journal entries in the books of Gupta. Charge depreciation at
the rate of 10% on diminishing method.
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13.

14.

Nandini Traders, Manipal, operates a branch at Mysore, goods are invoiced to
the branch at cost plus 25%. Branch is advised to deposit the cash every day
to the Head Office A/c and all the expenses paid by the Head Office except
petty expenses which are met by the branch manager. From the following
particulars prepare Branch Account and Branch debtors account in the books of
[ Head Office: =0 3
["Stock on 1.1.90 (invoice price) __.._ }E,-O:Q@
Petty cash on 1.1.90 — [ 800
Debtors on 1.1.90 i 9,500 |
| Furniture on 1.1.90 - T 2,000
Cash Sales @@O_J
Total sales _____QZLO_O_
| Cash from Debtors — 1 28500
Goods sent to_b_re_mch - o 82,0_00
| Discount Allowed L (S
| Petty Expenses 3 _ B 560
| Goods returned by branch ] 2,000
Expenses paid by Head Office: =
(Rent i 2400
| Salary S ... .. |
| Furniture B 1,600
| Stock on 31.12.90 _ (invoice price) 20,000
| Salary dueon 31.12.90 400
| Sale of furniture on 1.7.90 | 900
(Book value of furniture on the date of sale Rs.950)
Depreciation is to be charged on furniture @ 10% on the opening balance.
SECTION - C
Answer any TWO of the following. (2x16=32)
Maruthi Colliery Company worked coal under a lease from Mr. Devilal, which

provided for the payment of Royalities at Re. 1 per ton. With a minimum rent
of 34,000 per annum. Each year’s excess of minimum rent over the actual
royalties were recoverable during the subsequent three years. The lease
however stipulated that in any year if the minimum rent was not attained due
to strike, the minimum rent was to be regarded as having been reduced
proportionately having regard to the length of the stoppage.

The output was as follows;

Year Production - |

2000 4,000 tons ﬁgrqéﬁ;'Lut;lt i I [

2001 28,000 tons

2002 38,000 tons

2003 46,000 tons

2004 30,000 tons (stoppage of work due to strike for 3 months)
2005 50,000 tons

Prepare necessary ledger accounts in the books of both the parties.
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15. DM Delhi has a branch in London which is
017, the branch furnishes the followin

an intergral operation of DM. At the
trial
end of the year on 31% March 2 g

balance in U.K. Pound (£) e _
Particulars [ Debit (£) l Credit (£) ]
o =0 11,200

Stock on 01-04-2016 1 12 B =
" Goods received from Head Office 64,000 -

Purchases e _-1‘27000
“Fixed Assets at cost (acquim‘lﬁﬁ-xﬂzdc,ﬁﬁo
2013) | l
mf"*‘* — | 4,800 -
o 4800 2
m—-—'—“—'—'——‘“‘_’—““" = 3,200
" Cash at Bank - 1,200 .
"Head Office Account S| - 22,800
Sales - 96,0011
i_TotaI 1,22,000 | 1,22,0(2\
In the books of Head Office, the branch account stood as follows:
[ Particulars Amount () | Particulars ' Amount(i)J
| To balance b/d 20,10,000 | By Bank A/c 52,16,000J
To Goods Sent to|49,26,000 By balance c/d 17,20,000
Branch
B 69,36,000 69,36,000

The following further information is given:

a)Fixed assets are to be depreciated at 10% p.a. on straight line basis.

b) On 31% March 2017:

Expenses outstanding - £ 400

Prepaid expenses-£ 200

Closing Stock- £ 8,000

Rate of exchange:

1% April 2013- ¥ 70to £ 1

1% April 2016-2 76 to £ 1

31% March 2017- ¥ 77to £ 1

Average rate -2 75to £ 1

You are required to prepare-

Trial balance incorporating adjustments of outstanding and prepaid expenses
converting UK Pound into rupee.

a) Trading and Profit and Loss Account for the year ended 31% March 2017 and

a Balance Sheet as on that date of London Branch as would appear in the
books of Delhi Head Office of DM.
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16. M/s. SRR Trading purchased 3 trucks costing ¥ 6,00,000 each from Vikram

17.

Motors on hire purchase system. Payment was to be made as follows:

a) ¥ 3,60,000 as down payment for each truck ;

b) Remaining amount in 3 annual instalments along with interest at 9% p.a.
M/s. SRR Trading was charging depreciation at 20% p.a. under written down
value method. After having paid the down payment and first instalment , they
could not pay the next. Vikram Motors agreed to leave one truck with M/s. SRR
Trading and repossessed two trucks adjusting its value against the amount
due. The repossession was done on the basis of 30% depreciation per annum
on the written down value method. Show the ledger accounts in the books of
both the parties to record the above transactions.

SECTION - D
Answer the following: (Compulsory) (10)
Madhura agencies has a branch at Madikeri to which goods are invoiced at
Invoice Price being 20% profit on sales. From the following information,
prepare necessary ledger accounts in the books of Head Office under Stock and
Debtors system.
a) Stock at branch on 1.4.2016 - 7 10,000 (invoice Price)
b) Branch Debtors on 1.4.2016 - 8,000
c) Goods sent to branch (at invoice price) - ¥ 50,000
d) Cash sales - 2 27,000
e) Credit sales - ¥ 20,000 CoT ALOY ~--A:~ ]
f) Cash received from debtors - ? 14,400 LIBRARY
g) Discount allowed to debtors - 2 600 | MANGALURU - 575 00s
h) Goods returned from debtors - ¥ 4,000
i) Goods returned from branch to head office - ¥ 2,500

Ly -
am -

j) Branch expenses paid by Head Office - Z1,000
k) Surplus in branch stock (at invoice price) - ¥ 500
) Cash remitted to Head Office - ¥ 40,000

m) Expenses paid by the branch -%1,400

kK ok ok o R
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St Aloysius College (Autonomous)

Mangaluru

B.Com. Semester III - Degree Examination

February - 2022

COST ACCOUNTING - I
Max Marks: 100

SECTION - A
Answer any FIVE of the following.
Define Cost Accounting.
What is a Cost Unit? Give an example.
What is a Memorandum Reconciliation Account?
Why is reconciliation of cost and financial accounts necessary?
Calculate the units produced from the following information provided:
Opening stock of Finished Goods - 1,500 Units
Closing Stock of Finished Goods - 500 Units

Units Sold - 5,000 Units.
Find out EOQ when annual usage is 6,000 units, ordering cost ¥ 12/order &

(5x2=10)

carrying cost 20% of inventory value, cost per unit is Z 20.
Briefly explain the concept of Just In Time (JIT). rﬂmysws QDLLEGE -1

LIBRARY
MANGALURUY - 575 003 |

(4x12=48)

SECTION - B

Answer any FOUR of the following.
Briefly explain the classification of cost on the basis of elements, functions and

behaviour.
From the following, calculate Reorder level, Maximum level, Minimum level &

Average Stock level:
Cost of placing a purchase order 2 20/order, purchase price/unit 2 50. Number

of units purchased during the year 500units, annual storage cost ¥ 5/unit, lead

time: average- 10 days, maximum -15 days, minimum- 6days, and

emergency- 4 days.
Rate of consumption: average- 15 units/day, maximum- 20 units/day.

M/s J.K. Engineering Ltd. Has a machine shop with 4 identical machines, each

costing  2,00,000. The life of each machine is 20 years and the scrap value

at the end of its life time is estimated to be Z 2,000. The details in respect of

the machine shop are given below:

Normal working hours per annum 2,500 \
Estimated time for repairs and maintenance(hours) 150 ‘
Estimated set-up time (i.e., time for rearranging, loading, 850\

unloadi:lg_irj_bours) _
Wages of each of two operators (each operator is in charge of Z9,000 p.a‘ﬁ

two machines) A — I .
- Contd...2
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[ 24,800 p.a |
Rent, Rate of the shop - #H?QEOM_
Lighting of the shop . — 1 %600
rlnsurance premium for each machine per quarter . 2500 p.m.
| Repairs (per machine) _ - 21,000 p.m. |
Shop supervisor’s salary — e
Powzr consumption of machine per hour 20 units at ¥ 60 per |
100 units 26,000 p.m. |
Factory overheads for the shop =

The shop supervisor is expected to devote 1/5 of his time for the machine.
Calculate a comprehensive machine hour rate from the above details.

11. The net profit of ABC trading company appeared at ¥ 64,500 as per financial
records for the year ended 31-12-2020. The cost books showed a net profit of

¥ 86,460 for the same period. A careful scrutiny of the figures from both the
sets of accounts revealed following facts:

o Z
Income tax provided in financial books 20,000
Bank interest (credit) in financial books 250
Works overhead under absorbed [ 1,550
Depreciation charged in financial records 5,600
Depreciation charged in cost records 6,000 |
| Administrative overheads over absorbed 850
| Obsolescence Loss charged only in financial books 2,800
[ Interest on investment not included in cost books 4,000
Stores édjustment (credit) in financial books 240
-LLoss of stock charged in financial accounts 3,350
Prepare a reconciliation statement,

12. Deccan manufacturing Ltd. has 3 production departments namely X,Y and Z

and 4 service departments namely P,Q,

€xpenses to production departments usin
Particulars

R,and S. Distribute service department
g Step Ladder Method.

S ——
Factory Overheads

.

Direct labour hours

e
No of employees

— ]
!Lma (in sq mts.)

R, Son following basis:

P - on the basis of no of employees

Q - on the basis of direct labour hours
R - on the basis of area

S - on the basis of direct labour hours

13. Explain briefly the techniques of costing.
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SECTION - C

Answer any TWO of the following. (2x16=32)

14. The following details are available from the books of Suman Sea products Ltd

for the year ending 31st December 2021:

Particulars Amou;t_\
€9
‘ Direct wages - 6,00,000
l Purchase of materials 7,20,000
‘ Other materials 36,000
Carriage 8,640
Wages of foreman & store keepers 48,000
Other indirect wages 6,000 |
Cost of research & experiments 30,000
Office manager’s salary ' 72,000
| Employees State Insurance 6,000
\ Power, fuel & haulage ‘l 54,000
| Drawing office expenses ‘ 36,000 |
" Printing & stationery \ 12,000
Counting house salary 12,000
Sales 19,00,000J
Stock on 01-01-2021:
Raw materials 1,20,000
Work in Progress 22,800
[ Finished products (units) 6,000
Stock on 31-12-2021:
Raw materials 1,33,0%
Work in Progress

|
‘\
- i 96,000
Finished products (units) ‘STIAL!DQYSIRUSWW \‘ 12,0ﬁ
|
|
|
l
|

Payment of sales tax N \ (ANGALURU - 575 003 | 22,000 ‘
Donations 5,000
Debenture interest 40,000
Interest on Bank Loan 4,000
Bad Debts T 6,000
|

Selling & distribution expenses are to be charged at Z 1.00 per unit. During
the year 2021 units produced are 96,000.

Prepare a cost sheet showing the different elements of cost & profit.

Contd...4
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15. Following receipts and issues of material ‘Dezee’ were made during the Mo
of March 2020:

Stock of material on 1% March was 400 units at Z 50

March 2 purchased 100 units at Z 55 per unit

March 6 issued 400 units

March 10 Received 600 units at ¥ 60 per unit

March 13 issued 500 units

March 15 received 500 units @ ¥ 65 each.

March 18 issued 600 units

March 20 returned from work order 100 units

March 21 purchased 800 units at ¥ 70 per units

March 24 issued 500 units

March 26 issued 200 units

March 28 received 500 units at ¥ 75 per unit

March 30 issued 400 units

March 29 purchased 300 units at ¥ 80 per unit

March 30 found surplus of 5 units
Stock verification report reveals a shortage of 20 units on 16" March and
another of 10 units on 25" March.
Prepare stores ledger account under FIFO method showing above transactions.
In a factory there are 3 Production departments A, B and C and 2 Service
departments D and E. From the following details, prepare secondary

distribution summary under Simultaneous Equations Method:

per unit.

16.

E4
—
Indirect Materials 15,000
Indirect Wages 10,000
Depreciation on Machinery 25,000_
Depreciation on Buildings 5,000
Rent and Taxes 10,000
Power 15,000
Lighting 500 |
General Expenses 15,000
Other details: -
Particulars A B \ C l Dﬂﬁ
Direct Materials (2) 20,000 | 10,000 | 20,000 | 10,000 | 10,000
Direct Wages () 15,000 | 15,000 | 4,000 2,000 4000
Value of Machinery () 50,000 | 1,00,000 | 75,000 | 25,000 | 50000
Floor Area (Sq. feet) 1,000 1,500 1,500 ESggo  =an
H.P. of Machines 8 7| 15
Light Points 6 8] 12
Department D and E render the services as follows:
Departments A B C TTT
D 40% 20% 30% T‘“: —
E 30% 30% 30% T‘E—%

~ Contd...5
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SECTION - D
Answer the following: (Compulsory)
17. Bhadra Printers has been asked to quote the price for supplying 4,000
invitation cards. The cost records for 1,000 invitation cards of the firm gives
the following information for the month of December 2021:
particulars Amount (%) |

Direct Materials 4,000 | \': T ALuYSiU‘ Qtl

(10)

Direct Wages 3,000 I BRA R‘ :"1 .
300 A .".-.‘.—‘L.u!"... - W

duction Overheads 1,500

Sales 1,000 cards at 10 each.

Pro

You are required to quote a price for 4,000 cards (Similar) considering the
following:

1. Material cost to increase by 5%.

2. Labour rate to increase by 10%

3. Production overheads to be absorbed on the basis of direct wages.

4. Profit percentage on sales to remain the same.

o o ke ok ok ok o ok ok ok
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St Aloysius College (Autonomous)

Mangaluru

B.Com. (ACCA) Semester III — Degree Examination
February - 2.02-2—
PERFORMANCE MANAGEMENT

Time: 3 hrs.

Note: Graph sheet will be provided.

SECTION - A

Answer any FIVE of the following.
1. Jasper sells two products with selling prices and contributions as follows:

Max Marks: 100

(5x2=10)

' Product F Product G
Selling price per unit T840 $20 |
Contribution per unit $10 $4
Budgeted sales units 150,000 100,000

Jasper’ fixed costs are $1,400,000 ;3(-31' year.

Calculate Jasper’ current breakeven revenuc.
2. EFG uses an activity-based budgeting system. It manufactures three products, budgeted
details of which are set out below:

Product E | Product F Product G
Budgeted annual production (units) 75,000 120,000 |  60.000
Batch size (units) 200 60 30
\Machine set-ups per batch 5 ‘ 3 9 |
‘Purchase orders per batch ! 4 | 2 2 |
Processing time per unit (minutes) 3 4 4 |

1

Three cost pools have been identified. Their budgeted costs for the year ending
sl

30 September 2021 are as follows: ST ALQYSIUS QPLLEGE |
Machine set-up costs $180,000 LIRRARY
Purchasing of materials $95,000 MANGALURU - 575 003 |
Processing $110,000 '

Calculate the budgeted machine set-up cost per unit of product F.

Explain the basis for setting a transfer price.
TC Ltd is a divisionalised organisation comprising a number of divisions, including
divisions A and B. Division A makes a single product, which it sells on the external market
at a price of $12 per unit. The variable cost of the product is $8 per unit and the fixed cost
is $3 per unit. Market demand for the product considerably exceeds Division A’s
maximum production capacity of 10,000 units per month.
Division B would like to obtain 500 units of the product from Division A. If Division A
does transfer some of its production internally rather than sell externally, then the saving in
packaging costs would be $1.50 per unit.
Calculate the transfer price per unit Division A should quote in order to maximise group
profit?
BZC Co has budgeted for a learning rate of 95% on the production of its new product Q,
which is still at the development stage.
Actual results were as follows:
1. Time to make the first unit of Q = 40 minutes
il Time to make the first 8 units = 233 minutes

Calculate the actual learning rate, assuming a steady state has not been reached.
Explain how public sector performance can be assessed using Value for Money.
Explain any two methods to ensure the security of confidential information.

Contd...2
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SECTION -B

Answer any FOUR of the following. (4x12=43)

Advent Company has a maximum capacity of 2,20,000 units per year. Normal capacity s

1,80,000 units per year. Variable manufacturing costs are $ 11 per unit. Fixed factory

overhead is $ 5,40,000 per year. Variable sclling costs are $ 3 per unit, while fixed selling

costs are $ 2,52,000 per year. Sale price is $. 20 per unit.

Required:

A. What is the break-even point expressed in rupee sale?

B. How many units must be sold to earn a net income of 10% on sales?

C. What should be the selling price per unit if breakeven point is to be brought down to

1,00,000 units?

D. What will be the margin of safety when profit is $ 1,20,000?

Alfie Co manufactures smartphones and has developed a new handset, the "H’ The

maximum production capacity of Alfie Co is 150,000 units of the new handset. The

company’s management accountant is currently preparing an annual flexible budget and

has collected the following information so far for the ‘H’.

[Production units of 'H' | 100,000 units | 120,000 units | 150,000 units

Material costs | $700,000 | $840,000 $1,050,000
| Labour costs $750,000 | $900,000 | $1,125,000
Incremental fixed costs $60,000 $60,000 $60,000

In addition to the above costs, the management accountant estimates that for cach
increment of 15,000 units produced, one supervisor will need to be employed. A
supervisor’s annual salary is $42,000.

i. Assuming the budgeted figures are correct, calculate what would the flexed total
production cost be if production is 90% of maximum capacity? (8 Marks)
ii. The management accountant has said that the factory’s smartphone quality control
system carries a cost that was not included in the flexible budget, but should be. He
estimates that every 1,000 smartphones will take 5 hours to control; every quality control
hour has a variable cost of $120 and fixed quality control costs amount to $250,000.
Calculate the estimated quality cost if production of the smartphones is 90% of maximum
capacity? (4 Marks)
Explain how Enterprise Resource Planning(ERP) and Executive Information System (EIS)
could prove to be more beneficial to an organization as compared to Transaction
Processing System(TPS).

The financial results for the three companies for the year ended 31 May 2021 are a
follows:

C Company | O Company P Company |
| %000 $000 $000
Sales 14300 | 25,535 15,560 |
Cost of sales ' (4,900) (16,200) (5,280)|
Administration costs (3,400) (4,200) N (2,600)
Distribution costs - (1,260) (670)
1 e
Operating profit 6,000 | 3875 | 7,010 |
Capital employed 23,540 32,320 82,975

Calculate Return on Capital Employed, Asset turnover Ratio and Operatiﬁg Profit Margin-
Contd..?
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GOT Co is a pharmaceutical company which researches, develops and manufactures a
wide range of drugs. One of these drugs, ‘Parapain’, is a pain relief drug used for the
treatment of headaches and until last month GOT Co had a patent on Parapain which
prevented other companies from manufacturing it. The patent has now expired and several
competitors have already entered the market with similar versions of Parapain, which are
made using the same active ingredients.

GOT Co is reviewing its pricing policy in light of the changing market. It has carried out
some market research in an attempt to establish an optimum price for Parapain. SRE
research has established that for every $2 decrease in price, demand would be expected to
increase by 5,000 batches, with maximum demand for Parapain being one million batches.

Each batch of Parapain is currently made using the following materials:
Material Z: 500 gms at $0.10 per gram

Material Y: 300gms at $0.50 per gram

Each batch of Parapain requires 20 minutes of machine time to make and the variable
running costs for machine time are $6 per hour. The fixed production overhead cost is
expected to be $2 per batch for the period, based on a budgeted production level of 250.000
batches.

The skilled workers who have been working on Parapain until now are being moved onto
the production of GOT Co’s new and unique anti-malaria drug which cost millions of
dollars to develop. GOT Co has obtained a patent for this revolutionary drug and it is
expected to save millions of lives. No other similar drug exists and, whilst demand levels
are unknown, the launch of the drug is eagerly anticipated all over the world.

Agency staff, who are completely new to the production of Parapain and cost $18 per hour,
will be brought in to produce Parapain for the foreseeable future. Experience has shown
there will be a significant learning curve involved in making Parapain as it is extremely
difficult to handle. The first batch of Parapain made using one of the agency workers took
5 hours to make. However, it is believed that an 80% learning curve exists, in relation to
production of the drug, and this will continue until the first 1,000 batches have been
completed.

GOT Co’s management has said that any pricing decisions about Parapain should be based
on the time it takes to make the 1,000th batch of the drug.

If the learning co-efficient, b=-0.321928 Calculate the optimum (profit-maximising)

selling price for Parapain and the resulting annual profit which GOT Co will make from
charging this price.

Chapel Ltd manufactures a chemical protective called Rustnot. The following standard
costs apply for the production of 100 cylinders:

. ST ALQYSIUS QQLLEGS

o

!

Materials 500 kgs @ $0.80 per kg 400 LIBRARY
Labour 20 hours @ $1.50 per hour 30 MANGALURU « 375 003
Fixed overheads 20 hours @ $1.00 per hour 20

450

The monthly production/sales budget is 10,000 cylinders.
Selling price = $6 per cylinder.
For the month of November the following production and sales information is available:

Produced/sold 10,600 cylinders
Sales value $63,000
Materials purchased and used 53,200 kgs $42,500

Labour 2,040 hours $3,100

Fixed overheads $2.200

Required:

You are required to prepare an operating statement in a marginal costing format for
November detailing all the variances.

Contd...4
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TION-C
e (2x16=32)
It has recently received a request from a customer to

of normal budgeted production. The order would
cost estimate has already been

Answer any TWO of the following.

The Hi Life Co (HL Co) makes s'ofas.
provide a one-off order of sofas, in excess (
need to be completed within two weeks. The following

repared. e e note | S |
Direct material _____,____________.__.—___1_—__3.&_0_0_4
Fabric 200 m2 at $17 per m2 3
Wood [50mats820perm | 2 | 410
Direct labour ' e |
Skilled 200 hours at $16 per hour 3 3200
Semi-skilled 300 hours at $12 per hour 4 3600
Factory overheads - 500 hours at $3 per hour 5 112510100 :
Total production cost 1 ,2] 1
Administration overheads at 10% 6 ;
f total production cost ' ;\.
- ; ) —_t Total cost | 13,321 |

Notes: o '
a) The fabric is regularly used by HL Co. There are currently 300 m2 in inventory, which

cost $17 per m2. The current purchase price of the fabric is $17-50 per m2.

b) This type of wood is regularly used by HL Co and usually costs $8:20 per m2.
However, the company’s current supplier’s earliest delivery time for the wood is in
three weeks® time. An alternative supplier could deliver immediately but they would
charge $8-50 per m2. HL Co already has 500 m2 in inventory but 480 m2 of this is
needed to complete other existing orders in the next two weeks. The remaining 20 m2
is not going to be needed until four weeks’ time.

c¢) The skilled labour force is employed under permanent contracts of employment under
which they must be paid for 40 hours’ per week’s labour, even if their time is idle due
to absence of orders. Their rate of pay is $16 per hour, although any overtime is paid at
time and a half. In the next two weeks, there is spare capacity of 150 labour hours.

d) There is no spare capacity for semi-skilled workers. They are currently paid $12 per
hour or time and a half for overtime. However, a local agency can provide additional
semi-skilled workers for $14 per hour.

e) ;‘he $3 absorption rate is HL Co’s standard factory overhead absorption rate; $1-50 per
o st e o of h cory sprisr's sty and e ot 5150 s b

- Upervisor 1s paid an annual salary and is also paid

$15 per hour for any overtime he works. He wi
. . He will need to ’ T
this order is accepted. work 20 hours’ overtime if

Q This is an apportionment of the general admini

- Required: stration overheads incurred by HL Co.

Prepare, on a relevant cost basis, the | ;
owe: : .
for the quotation. ’ St cost estimate which could be used as the basis

15. Justin Thyme manufactures four products, A, B, C

i and D. i i
resource requirements for each of the products are as ft]))l l;;?\:;alls of sales prices, costs and

Product  Product

Product Product
A(8) B ($)

; C(s
Sales price {4 s (3) D($)
Materials cost 0.60 0'30 1.20 2.80
Direct labour cost 0.40 0.20 0.60 1.00
Machine time per unit (Minutes) 5 2 0.40 1.00
Labour time per unit (Minutes) 2 1 3 6
Weekly sales demand (Units) 2,000 2,000 2 >
g 2,500 1,500

Contd...5
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Machine time is a bottleneck resource and the maximum capacity is 400 machine hlours
cach week. Operating costs, including direct labour costs, are $5,440 each week. Direct

labour costs are $12 per hour, and direct labour workers are paid for a 38-hour week, with
no overtime.

Required:

Determine the quantities of each product that should be manufactured and sold each
week to maximise profit and calculate the weekly profit.

ZEE Chemicals refines crude oil into petrol. The refining process uses two types of crude
oil — heavy and light. A mixture of these oils is blended into either Super or Regular petrol.
In the refining process one gallon (g) of Super is made from 0.7 g of heavy crude and 0.5 g
of light crude. One gallon of Regular is made from 0.5 g of heavy crude and 0.7 g of light
crude oil. (There is a refining loss of 0.2 g in each case.)

At present, 5,000 g of heavy crude and 6,000 g of light crude oil are available for refining
each day. Market conditions suggest that at least two-thirds of the petrol refined should be
Super. The company makes contribution of $0.25 per gallon of Super and $0.10 per gallon
of Regular,

(a) State the objective function and three constraints, one for heavy crude, one for light
crude and one for market conditions. (5 marks)

(b)  Graph the constraints and shade the feasible region. (8 marks)

(c)  Calculate the optimum production plan and the resulting total contribution.

(3 marks)

SECTION-D

Answer the following: (Compulsory) (10)
Division A, which is a part of the ACF Group, manufactures only one type of product, a
Bit, which it sells to external customers and also to division C, another member of the
group. ACF Group's policy is that divisions have the freedom to set transfer prices and
choose their suppliers.

The ACF Group uses residual income (RI) to assess divisional performance and each year
it sets each division a target R1. The group's cost of capital is 12% a year.

Division A e TECE |
Budgeted information for the coming year is: ST ALQYSIUS QOLLERE )

@imum capacity _.l. 150,000 Bits ] = :’N :.; .E.URRU&- §5YQ¢.3 J
| External sales ] m,@_(}ggi_ls_{

| External selling price | $35 per Bit

[Variable cost _ | $22 per Bit

Fixedcosts | $1,080,000

Capital employed | $3,200,000 7

| Target residual income $180,000

Division C
Division C has found two other companies willing to supply Bits:

X could supply at $28 per Bit, but only for annual orders in excess of 50,000 Bits. Z could
supply at $33 per Bit for any quantity ordered.

Division C provisionally requests a quotation for 60,000 Bits from division A for the
coming year.

Calculate the transfer price per Bit that division A should quote in order to meet its
residual income target.

kR Rk Rk
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St Aloysius College (Autonomous)

Mangaluru
B.Com. Semester III - Degree Examination
February - 2022

INCOME TAX -1
Max Marks: 100

SECTION - A
Answer any FIVE of the following.
Define “Assessment Year” and “Previous Year”.

(5x2=10)

Define the term “Person”.

State the exceptions to rule of taxing of income of previous year in the
assessment year.

State the maximum limit of interest exemption on post office savings account
for individual account and joint account u/s 10(15).
State the treatment of employee’s contribution, employer’s contribution and
interest on recognised provident fund, while computing income of salary.
Explain the provisions of Income Tax regarding the Encashment of Earned
Leave.
State the conditions to allow deduction for unrealised rent, while computing
income from house property.

SECTION -B

Answer any FOUR of the following.
Mr Pradeep left India for the first time on 5% March 2018 after having lived in
India for 22 years. He returned back to India on 10" September 2020. Find

out the residential status of Mr Pradeep for the Assessment Year 2021-22.

(4x12=48)

Bhargav Arora retired from service on 31 July of previous year after serving
for 28 years, 6 months and 20 days. His basic pay on 1-1-2019 was ¥ 15,200
and the annual increment of 2 150 falls due on 1% May every year. He got
dearness allowance at 40% of basic pay. He received 2 3,65,000 as gratuity.
Earlier he had received ¥ 15,000 as gratuity which was then exempt. Compute

ST ALQYSIUS (DLt

taxable gratuity assuming that he is pCH
: LIBRARY
a) Covered under Payment of Gratuity Act 1972 SANGA LI - 678 08

—— ey

i

.

b) Not Covered by Payment of Gratuity Act 1972
a) From the following particulars compute Taxable House Rent Allowance of

Mr. Ray for the Assessment Year 2021-22.

i. Basic pay #12,000 per month.
i, Dearness allowance ¥2,500 per month (50% enters into retirement
benefit)

ii. Commission @ Y2 % turnover of Z40,00,000 per annum.
House Rent Allowance of Z3,500 per month.
Rent paid for the furnished house at Mumbai ¥ 5,000 per month. (6)

(6)
Contd...2

iv.
V.

b) Write a note on agricultural income.



From the following

il Mr Santhosh is working in Reliance Industries Ltd.
particulars, compute the income from salary for the Asse
i. Basic salary ¥ 3,00,000 per annum.
ii. Bonus ¥ 15,000.

iil. Commission ¥10,000.
iv. Furnished accommodation provided to the employee for which Besual

ssment Year 2021-22

rent paid by the company ¥90,000.
v. Rent recovered from the employee ¥20,000.
vi. Medical allowance %3,000 per month.
vii.  Cost of furniture provided ¥1,00,000.
viii.  City population is 15 lakhs.

ix. employment tax paid -¥2,400 per annum.

12. From the following particulars compute deductions u/s 80C for the Assessment

Year 2021-22.
i. Contribution to Recognised Provident

contribution 22,000).
Public Provident Fund deposit %90, 000 (accrued interest on Public

Fund ¥18,600 (Employers

Provident Fund ¥2,650).
Life Insurance Premium paid (own life)  21,400.
Life Insurance Premium paid (on major son life) ¥ 15,200.

iv.
v. Life Insurance Premium paid (on mothers life) Z3,000.
vi. National Savings certificate purchased ¥ 13,000.

vii. Accrued interest on National Savings certificate VIII issue ¥ 2,570.

Subscription to unit linked insurance plan of UTI  10,000.

viii.
ix. Tuition fees paid to college for 2 children 2 16,350.
x. Donations to school where his children study ¥ 5,000.
Xi. Repayment of housing loan 30,000 (including interest ¥17,000).
xii. Deposit in Sate Bank of India for 2 years 2 10,000.
13. Ms Dolly owns three house properties particulars of which are given below:
'________________—-—-- i
I House II House IIT House
(N
Use Self occupied Let out for T
S (for residence) business r:s?:;:gef
Municipal value 25,000 22,000  24000]
. I
Standard rent 3 24,000 23 000
"Rent received - 28,000 5000
Municipal tax paid 2,000 3,000 ______ErFOT}_
Cost of repairs f4,000 3,500 ___Hz_rs_ﬁ
Collection charges - 500 H______LGO_O
Vacancy period = 2 months |
Interest on loan 16,000 2,000 e

- compute his Income for the House Property for the Assessment vear 2021-22

Contd..3
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SECTION - C

Answer any TWO of the following. (2x16=32)

14. Compute the Total Income of Mr. Uttappa from the following particulars if he is
(a) Ordinarily resident, (b) Not ordinarily resident and (c) Non resident.
i.  Income from assets in Srilanka received in Mysore Z 20,000.
ii. Income from business in Madikeri managed in Japan ¥ 25,000.
iii. Income from services rendered in Mangalore, received in America
Z 5,00,000.
iv.  Profit from business in Pakisthan, deposited in bank there ¥ 17,000.
v. Income from profession in Kenya received there. The profession was
set-up in India ¥ 25,000.
vi. Interest on China Government Securities ¥ 1,40,000 ( half of which is
received in India ¥ 70,000).

vii. Interest on France Development Bonds ¥ 10,00,000 (1/10 received in
Bombay ¥1,00,000).
viii. Income from Agriculture in Malaysia received there, but later on

remitted to India ¥ 60,000.
ix. Income from property in Canada, received outside India ¥ 30,000.
x. Income earned from business in Singapore, which is controlled from
Chennai (% 25,000 is received in India) ¥ 70,000.
xi.  Profit on sale of a building in India, but received in Dubai ¥ 22,000.
xii. Income from Agriculture in Punjab 2 28,000.

xiii. Interest on Post Office Savings Bank Account 25, (I!l:‘r‘Zl‘1I ALQYSIUS W*‘LL“ ' \
xiv.  Gift from a friend 260,000. LIRRAR, 002 |

MAMALUI!U

xv. Past untaxed income brought to India ¥13,000.

15. Mr. D'Souza Sales Manager in a private firm furnished the following details of
his salary for the previous year:
i. Basic Pay 15,000 per month.

ii. Dearness Allowance ¥ 6,500 per month (40% enters into retirement
benefits).

iii. Entertainment allowance % 300 per month.

iv. Helper allowance ¥ 400 per month, he paid salary to helper ¥300 per
month.

v. Employers and his contribution to Recognised Provident Fund ¥3,000 per
month each.

vi. Interest credited on the accumulated balance of the RPF at 13.5% per
annum 25,200.

vii.  City Compensatory Allowance % 200 per month.

viii. Medical allowance ¥ 150 per month.

ix. He is also provided with the furnished accommodation. The company
charges Rs. 200 per month. The house is owned by the employer. The
cost of furniture provided amounts to Rs. 22,000. The population of the
city he resides is 26 lakhs.

x. He received education allowance of ¥ 250 per month per child for two
chidren.

xi. He received hostel allowance of 400 per month (one child stays in a
hostel).

Contd...4
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a) Life Insurance Premium 2 38,000.
b) Public Provident Fund Contribution 21,00,000.

c) Repayment of housing loan (principal amount 225,000.

page No- 4

He has made the following payments during the year:

Compute his Taxable Salary and deduction /s 80C for the Assessment Year
2021-22.

16. Bhavya owns four houses, the details of which are as follows: ST
i I House I1 Hou?mw
Annual Municipal Value 10,000 8,000 12,000 15,000
Fair Rental Value 12,000 15,000 W’—’]EEO‘

Rent Received 15,000 14,400 seif- | Self-
L occupied wfi
Standard Rent 13,600 | 18,000 15,000| 10,000
Municipal Taxes Paid 800 600 Nil 1,200
Municipal Taxes Due - - 1,000 -
Repairs Nil| 12,000 4,000 6,000
For the construction of IV House, she had borrowed ¥ 5,00,000 at 10% per
annum on 1-1-2017. The house was completed on 1-8-2020. This loan is not
cleared. Compute her Income for the House Property for the Assessment Year
2021-22,
il SECTION - D
Answer the following: (Compulsory) (10)
17. From the following particulars relating to Mrs. Gopidevi, who is working in a
private company Compute the taxable salary for the Assessment Year
2021-22.
i. Basic salary ¥ 16,000 per month.
ii. Dearness allowance ¥ 4,000 per month (as per the terms of
employment).
fii. Bonus ¥ 16,000 per annum.
iv. Rent free accommodation provided by the employer at Kanpur
(population exceeding 25 lakh). The house is owned by employer .The
cost of the furniture provided therein ¥ 20,000.
v. Entertainment allowance Z 1,000 per month,
vi.  Her contribution to recognised provident fund is at 159,
vii. Employer’s contribution to recognised provident fund ig % 30,000 bt
annum.
viii.

Interest on recognised provident fund balance at 9, 50, Per ann :
- um is
¥ 19,000.

ix. Free use of a large car (owned by employer anq runnin 3
g an

maintenance expenses met by employer) for both offi
al and perg
onal

purposes. A driver is also provided by the employer,
o ok o ok ok e e ke ok ok
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St Aloysius College (Autonomous)
Mangaluru
B.Com. Semester IIT - Degree Examination
February - 202.2-
PRINCIPLES OF MARKETING

Time: 3 hrs.

P e o e

10.
11.
12,
13.

14,
15.

16‘

17.

Max Marks: 100
SECTION - A
Answer any EIVE of the following. KFam10)
What is marketing concept?

What is concentrated marketing strategy?

Give the meaning of product mix,

What do you mean by odd pricing?

What is a logo? Mention any two uses of having a logo.
Define brand equity.

What do you mean by international marketing?

SECTION - B
Answer any FOUR of the following. (4x12=48)
What is marketing? Explain its significance.
Explain the importance of market segmentation.
Describe the stages in planning and development of a new product.
Explain the importance of pricing. \j ALOYSIUS QPLLEGE

LIBRARY

’ P n_
What is brand extension? Explain its types. i g i 00? .

Elucidate the major International Marketing decision.

SECTION - C
Answer any TWO of the following. (2x16=32)
Explain the bases of market segmentation for consumer goods,
Explain the factors affecting product life cycle.
Describe the global demography, Consumer and Technology Environment.

SECTION - D

Answer the following: (Compulsory) (10)
Write a note on the brand elements - logo and slogan.

o+ k% o koo o o o
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St Aloysius College (Autonomous)
Mangaluru
B.Com. (ACCA) Semester III - Degree Examination
February - 20272
GOVERNANCE RISKS AND ETHICS

Time: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. State the purposes of Corporate Governance.
2. Define Corporate Social Responsibility.
3. List out the responsibilities of the Chairman.
4,

10.

11.

12,
13.

14,

15.

16.

Distinguish Between Annual General Meeting and Extraordinary General
Meeting.

Mention any two objectives of an Internal Control System.
Define Risk Appetite.

ST ALQYSIUS (DLLEGE |
LIBRARY |
MANGALURU - 575 003 |

Define Professionalism.

SECTION - B
Answer any FOUR of the following. (4x12=48)

Differentiate rule based and principle based approach
Governance.

to Corporate

Explain the concept of stakeholder power and interest using Mendelow Model.
What is Remuneration Committee? Describe the role and responsibilities of
Remuneration Committee,

Define Internal Control System. Explain the need for adequate information

flows to management for the purposes of the management of internal control
and risk.

Briefly explain the different types of risk that affects the business.
Explain strategies for managing risk using TARA Model.

SECTION - C
Answer any TWO of the following.

(2x16=32)
What is Agency Theory? Explain the key concept and agent - principal
relationship in the context of governance.

Explain the role of effective leadership and identify the key leadership traits
effective in the successful formulation and implementation of strategy and
change management.

A) Define Corporate Ethics. Explain the key areas included in a code of

Corporate Ethics. (8 Marks)

B) Explain the fundamental ethical principles. (8 Marks)

Contd...2
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SECTION - D

Answer the following: (Compulsory) LAm)
LUM CO is a family business that has been wholly-owned and controlled by the
Lum family since 1920. The current chief executive, Mr Gustav Lum, is the
great grandson of the company’s founder and has himself been in post as CEO
since 1998. Because the Lum family wanted to maintain a high degree of
control, they operated a twotier board structure: four members of the Lum
family comprised the supervisory board and the other eight non-family
directors comprised the operating board. Despite being quite a large company
with 5,000 employees, Lum Co never had any nonexecutive directors because
they were not required in privately-owned companies in the country in which
Lum Co was situated. The four members of the Lum family valued the control
of the supervisory board to ensure that the full Lum family’s wishes (being the
only shareholders) were carried out. This also enabled decisions to be made
quickly, without the need to take everything before a meeting of the full board.
Starting in 2016, the two tiers of the board met in joint sessions to discuss a
flotation (issuing public shares on the stock market) of 80% of the company.
The issue of the family losing control was raised by the CEO’s brother, Mr
Crispin Lum. He said that if the company became listed, the Lum family would
lose the freedom to manage the company as they wished, including supporting
their own long-held values and beliefs. These values, he said, were managing
for the long term and adopting a paternalistic management style. Other
directors said that the new listing rules that would apply to the board, including
compliance with the stock market’s corporate governance codes of practice,
would be expensive and difficult to introduce. The flotation went ahead earlier
this year. In order to comply with the new listing rules, Lum Co took on a
number of non-executive directors (NEDs) and formed a unitary board. A
number of problems arose around this time with NEDs feeling frustrated at the
culture and management style in Lum Co, whilst the Lum family members
found it difficult to make the transition to managing a public company with a
unitary board. Gustav Lum said that it was very different from managing the
company when it was privately owned by the Lum family. The human
resources manager said that an effective induction programme for NEDs and
some relevant continuing professional development (CPD) for existing
executives might help to address the problems. You have been approached, as
an external management consultant, to assist with the transition to the new
unitary structure.

Required: Prepare a report for the unitary board covering the following:

An assessment of the benefits of introducing an induction programme for the

new NEDs, and requiring continual professional development (CPD) for the
existing executives at Lum Co after its fiotation,

3 3 3k oK ok % K K
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St Aloysius College (Autonomous)
Mangaluru
B.Com. (BPS) Semester III - Degree Examination
February - 202%
RETAIL MARKETING AND RESEARCH
Time: 3 hrs, Max Marks: 100
SECTION - A
Answer any FIVE of the following. (Sxawi0)
1. What does mass media denote?
2. What is marketing strategy?
3. What does retail research report provide?
4. What is media research?
5. What is the objective of consumer marketing research?
6. What is retail research? ST ALQYSIUS ;_:—1
7. What is syndicated research? LIBRARY
MANGALURU - 575 003 |
SECTION - B B
Answer any FOUR of the following. (4x12=48)
What is market research? Explain the vital concepts of market research.
S. Describe the characteristics of FMCG products.
10. Write a short note on a) Consumer Marketing research b) Consumer research
cycle c) Media Research report
11. What is the future of retailing in the internet age? Explain the various types of
retail formats.
12. a) Explain marketing mix and its components. (6 Marks)
b) What are the benefits of retail research? (6 Marks)
13. Explain: a) Consumer Electronic Goods b) Significance of Retail
) Retail reports
SECTION - C
Answer any TWO of the following. (2x16=32)
14. What is market segmentation? Explain the four basic market segmentation
strategies, with relevant examples.
15. Explain the concept of media data. Describe its characteristics and importance
of media data validation.
16. Panels are used for utilized for varied types of research such as consumer
research, retail audit. Evaluate on the statement,
SECTION - D
Answer the following: (Compulsory) (10)
17,

Market research is about one or more dimensions of consumers, products,
Ccompetitors, media and business environment. Explain.

ok ok ok o ok ke ok o ok ok
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St Aloysius College (Autonomous)
Mangaluru
B.Com. (ACCA) Semester III - Degree Examination

February - 9022
AUDIT AND ASSURANCE

Time: 3 hrs, Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What is limited assurance engagement?
2. List out the need for conducting external audit.
3. State the circumstances in which a person is not eligible to act as an auditor.
4. What is material misstatement? ST ALQYSIUL o -
5. What do you mean by financial statement assertions? LIBRARY :
| MANGALURU - 575 003 |
6. State two advantages of outsourcing internal audit functior: G
e

10.

11.
12,
13,

List two assertions that relate to recording of classes of transactions.

SECTION - B
Answer any FOUR of the following. (4x12=48)
State the differences between interim and final audit procedures.
Define Materiality and determine how the level of materiality is assessed.

What is Assurance Engagement? Explain the elements of an Assurance
Engagement.

List out the contents of an engagement letter.
Write a note on inherent risk and detection risk.
It is 1 July 2021. You are an audit senior at JPR Edwards & Co and you are
currently planning the audit of Hook Co for the year ending 30 September
2021. Your firm was recently appointed as auditor after a successful tender to
provide audit and tax services. JPR Edward & Co were asked to tender after
the lead partner, Neisha Selvaratalm, met Hook Co’s CEO, Taylor Tucker, at a
charity cricket match. Hook Co was unhappy with the previous auditors as it
was felt the audit did not add much value to the company.
Hook Co manufactures electrical goods such as MP3 players, smartphones and
personal computers for larger companies with established brands. Their client,
who represents 70% of its revenue, was the market leader in smartphones and
MP3 players last year with 60% market share.
Hook Co uses a number of suppliers to source components for its products.
Most suppliers are based in the UK. However, Hook Co imports microchips a
key component in all their goods from a number of overseas suppliers. Hook
Co’s products are assembled and packaged in one factory in the UK before
being distributed to customers across the UK. The work-in-progress balance is
expected to be material at the year end. During the year, Hook Co started
developing smartphone applications.

Contd...2
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$1million has been spent on an application called ‘snore'c"rneterr i :.e”:sw:
users to record the sounds they make while they are asleep- Thereter! - °
technical difficulty in production which meant the launch of 'snore-0-me

been delayed from June to October 2021. _

To fund the expansion into smartphone applications Hook Co is seeking

a listing on the London Stock Exchange in the fourth quarter of the year: _
Required : Using the information provided, describe audit risks and explain

the auditor's response to each risk in planning the audit of Hook Co.

SECTION - C
Answer any TWO of the following. EEPeEs)
14. The directors of Murray Co are interested in being able to report that they
comply with best practice corporate governance principles and have asked for
your thoughts. The finance director has provided you with the following
information:
The board consists of the chief executive officer, finance director, HR director,
production director and sales director. In addition, there are two non-executive
directors who were appointed last year by the chief executive as they are his
aunt and uncle. Previously they ran their own small cafe and used a firm of
accountants for all financial matters due to their own lack of expertise in that
area. The contracts signed by the non-executive directors’ state that they are
in place until they decide to leave or unless they are found guilty of
misconduct. They receive an annual fee and a number of share options in
Murray Co as their remuneration. Since appointment, the two non-executives
have formed an audit committee consisting of themselves and the human
resources director as it was felt that the finance director would not be an
independent member of the committee. They have also formed a remuneration
committee with the finance director and are currently in the process of
proposing and approving the salaries for all of the directors for the coming
year.
A) Explain whether Murray Co is required to comply with 2 code of

corporate governance. (5 Marks)
B) Explain the strengths of Murray Co’s current governance arrangements

. (5 Marks)

C) Identify and explain the weaknesses in Murray Co’s current governance
arrangements and for each weakness recommend anp action the
company should take to remedy the weakness,

) ; dito (6 Marks)
econditions for an audit?
15. A) What are the pr it o : (8 Marks)
the purpose of audit documentation.
B) Elaborate on purp (8 Marks)

16. Explain self-review threats and its safeguard measures,

Contd...3
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SECTION - D
Answer the following: (Compulsory) oo

A) Answer the following questions:
1. Which of the following statements is FALSE?
a) Auditing standards are laws which must be followed during all audits
b) Auditing standards should be followed during all audits unless there
are exceptional circumstances which would mean the audit objective
would not be met
c) Auditing standards are professional regulations
d) Auditing standards may be different in different countries, even those
using ISAs
2. Which of the following are reasons for the audit profession issuing auditing
standards?
i)To ensure consistency of audits across different firms.
il) To provide bureaucracy for auditors.
iii) To ensure quality in the standard of audits performed.
a) All of them P [;}.'- S Ay
b) (i) and (ii) onl o it bl
c)) 8 and Eiii)) onry m,rL-' BRARY |
Y { MANGALURU - 575 003 |
d) (ii) and (iii) only - -
3. Which of the following people may act as auditor for a company?
a) The company's previous finance director who left the company five
years ago to join the audit firm
b) A director of the company being audited who holds a valid audit
certificate
c) An employee of the company being audited who holds a valid audit
certificate
d) The wife of the finance director who works for a reputable audit firm
4. In most jurisdictions, the auditors of a company will be appointed by which
party?
a) Directors
b) Audit committee
c) Government
d) Shareholders
5. Which of the following statements is TRUE?
a) The shareholders of most companies will also be the directors
b) The directors are the stewards of the company responsible for
looking after the company on behalf of the owners
c) Directors will always have a vested interest in the company doing
well because they own shares in the company they work for
d) Auditors ar€ allowed to be business partners of the company

directors (5 Marks)
B) Distinguish between principle-based approach and rule-based approach.
(5 Marks)

sk 3k 3K 3K 2K oK K K K K
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St Aloysius College (Autonomous)

Mangaluru
B.Com. (Vocational) Semester 111 — Degree Examination

February - N
FINANCIAL ACCOUNTING - I

Time: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What is underinsurance?
2. What is cash price of asset in the context of Hire purchase?
3. Give two benefits of Departmental Accounts.
4. Mention two reasons why Head office Account in the Branch books may not agree with
the Branch Account in the books of the Head office. l 5T ALQYSIUS QL LLECE 1
State two disadvantages of incomplete records system. l LIBRARY
MANGALURU - 575 003 |

What do you mean by short sales in Consequential loss policy? -
The current Liabilities of a firm are Rs.2,00,000 and the long-term Liabilities
1.5 times more than the current liabilities. The capital is half of the total liabilities; What

would be the total of the asset side?

SECTION - B
Answer any FOUR of the following. (4x12=48)
8. From the following information, ascertain the value of stock on 31* March, 2020:

| Particulars _[  Amount (Rs) |

Stock as on 01-04-2019 | 28,500 |

Purchases i 1.52,500 |

Manufacturing expenses | 30,000

Selling expenses _ 12,100

Administration expenses | 6,000 |

Financial expenses _ 4,3{)_{]_ |

Sales o 2,49,000 |

— I

At the time of valuing stock as on 3 1% March 2020, a sum of Rs.3,500 was written off on a
particular item, Which was originally purchased for Rs.10,000 and was sold during the

year for Rs.9,000. Barring the transaction relating to this item, the gross profit earned
during the year was 20%on sales.

9. A machinery is sold on hire purchase. The terms of payment are four annual installments
of Rs.6,000 at the end of each year commencing from the date of agreement.

Interest is charged at 20% and is included in the annual payment of Rs.6000.

The purchaser provides depreciation on the machinery at 10% per annum on WDV basis.

Show Machinery account and Hire vendor account in the books of the purchaser who
defaulted in the payment of the third yearly payment where upon the vendor repossessed
the machinery.

All workings should form part of your answers.
Contd...2
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M/s AM Enterprise had two Departments, Cloth and Readymade clothes. The AR
clothes were made by the firm itself out of the cloth supplied by the Cloth e
its usual selling price.

From the following figures, prepare Departmental Trading and Profit & Loss Account for
the year ended 31* March, 2011:

f - Particulars Cloth De_p_aFm—erI | Readymade Clothes |
- ® | Deemney |
Opening stock on 1% April, 2010 31,50,000 5,32,000 '!
Purchases | 2,10,00,000 1,68,000
Sales : 2,31,00,000 47,25,000 |
Transfer to Readymade Clothes Department | 31,50,000 | =
Manufacturing expenses s 6,30,000
Selling expenses | 2,10,000 73,500
Rent & warehousing 8,40,000 5,60,000
IE)CR on 31* March,2011 21,00,000 6,72,000

In addition to the above, the fbllowing information is made available for necessary
consideration:

The stock in the Readymade Clothes Department may be considered as consisting of 75%
cloths and 25% other expenses. The Cloth Department earned a gross profit at the rate of
15% n 2009-10. General expenses of the business as a whole amount to Z10,85,000.

M/s X has a branch at Delhi and the goods are invoiced to branch at a profit of 20% on
invoice price. Head Office paid all the branch expenses from its bank account, except
petty cash expenses which were met by the branch. Branch expenses directly paid by M/s
X on behalf of Delhi branch amounted to Z20,000.

Following information is available of the transactions at Delhi branch for the year ended
31* December, 2012

’parﬁcu]arg Ason 1.1.2012 (3) Ason31.12.2012 (3) |
| Stock, at invoice price 80,000 1,00,000

e: Debtors 24,000 22,000
Petty cash 3000 5000

" Transactions during the year_ ended 31-5'“_Deceml_);r, 2012 —‘__—f_-_‘_
Goods sent to branch, at invoice price 8,40,000
Goods returned by branch to head office, at invoice price 30,000
Cash sales 3,10,000

_,! Credit sales 3,60,000
Cash sent for petty expenses 12,000
Bad debts at Delhi branch 2000 |
Goods returned by debtors 2000

.S_hOW branch hccoﬁnﬁ:ﬁd‘ér Debtors nTethoc_J_ - T e

Contd...3
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1.4.20X1 Opening balance - Nominal value Z1,20,000, Cost Z1,18,000
1.7.20X1 100 Debentures purchased ex-interest at 398

1.10.20X1 Sold 200 Debentures ex-interest at ¥100

1.1.20X2 Purchased 50 Debentures at T98 cum-interest

1.2.20X2 Sold 200 Debentures ex-interest at T99

Due dates of interest are 30th September and 31st March.

Mr. P closes his books on 31.3.20X2. Brokerage at 1% is to be paid for each transaction.

Debentures (Z100 each)

Show Investment account as it would appear in his books.

Assume FIFO method.

LIBRARY

-

ST ALQYSIUS GQOLLEGE |

{
|

MANGALURU - 575 003__‘2

Market value of 8% Debentures of P Limited on 31.3.20X2 is X

BB Mumbai has a branch in Cochin to which office goods are invoiced at cost plus 25%.
The branch sells both for cash and on credit. Branch Expenses are paid direct from head
office, and the Branch has to remit all cash received into the Head Office Bank Account.

From the following details, relating to calendar year 20X 1, prepare the accounts in the

Head Office Ledger and ascertain the Branch Profit.

Branch does not maintain any books of account, but sends weekly returns to the Head

Office:

r—-_ Particulars - 4 )
Goods received from Head Office at invoice price 6,00,000
Returns to Head Office at invoice price 12,000
Stock at Cochin as on 1st Jan., 20X1 60,000
Sales in the year Cash 2,00,000

| Credit 3,60.000
Sundry Debtors at Cochin as on 1st Jan. 20X1 72,000
Cash received from Debtors 3,20,000 |
Discount allowed to Debtors 6,000
Bad debts in the year 4,000
Sales returns at Cochin Branch 8,000
Rent, Rates, Taxes at Branch 18,000
Salaries, Wages, Bonus at Branch 60,000
Office Expenses 6,000
Stock at Branch on 31st Dec. 20X1 at invoice price

l 1,20,000

Prepare branch accounts in books of head office by stock and debtors method.

Contd..
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Answer any TWO of the following. i
i i
M/s Carlin has head office at New York (U.SA.) and branch at Mumbai (In

14,

: is
branch is an integral foreign operation of Carlin & Co. Mumbai branch furni
its trial balance as on 31st March, 20X2 and the additional information g1Ve

SECTION - C

I

page No.4

(2x16=32)

a). Mumbai
hes you with

n thereafter:

E"_ﬂi_‘f_“lm ) ] Dr.(in thousamis)___‘_c_ff _irl_M
Stock on 1st April, 20X1 | 300 R B—E=E
Purchases and sales - 800 _;_ - 1,200
—Sundry Debtors and creditors 400 = 300
Bills of exchange ' 120 1 280
| Wages and salaries I R
Rent rates and taxes 7 R .
Sundry charges - e | -
Computers ] 240 | .. R
Bank balance 20 | g
New York office a/c - 1620
| Total 1 3,360 3,360
Additional information: '
(a) Computers were acquired from a remittance of US $ 6,000 received from New

York head office and paid to the suppliers. Depreciate computers at 60% for

the year.
(b)
(c)

. on1.4.20X1@40 per US $
I on31.3.20X2 @42 per US $

III.  average exchange rate for the year @ 47 per US $

V.

conversion in § shall be made upto two decimal accuracy.

Unsold stock of Mumbai branch was worth Rs.4,20.000 on 31st March, 20X2.
The rates of exchange may be taken as follows:

You are asked to prepare in US dollars the revenue statement for the year ended 3 1st

March, 20X2 and the balance sheet as on that date of Mumbai branch as would appear in
the books of New York head office of Carlin & Co.

You are informed that Mumbai branch account showed a debit balance of US

$ 39609.18 on 31.3.20X2 in New York books and there were no items pending

reconciliation.

15. Harihara furnishes you with the following information relating to his business:

| Opening | Closing |
Furniture (W.D.V.) } 6,000 6,350
Stock 8,000 7,000
Debtors 16,000
Creditors 11,000 | 15,000 |
Prepaid Expenses 600 700
Unpaid Expenses 2,000 1,800
" Cash and Bank 1200 | 625

Contd...5
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Receipts and Payments during the year:

e Collection from Debtors, after allowing Discount of Rs.1,500 amounted to
Rs.58,500.

Collections on discounting of Bills, after deduction of Discount of ke
Bank, totalled Rs.6,125.

e Creditors of Rs.40,000 were paid Rs.39,200 in full settlement of their dues.

* Payment for Freight Inwards Rs.3,000, r ""‘“‘".';TT:,T"TT-—‘:—]
®  Amounts withdrawn for personal use Rs.7,000. ; i 1BRA RY '
® Payment for Office Furniture - Rs.1,000. J__jf_f* ESERLE =
®

Investments carrying annual interest of 4% were purchased for Rs.96 on Ist July
and payment made therefor. (FV = Rs.100)
® Expenses including Salaries paid Rs.14,500.

® Miscellaneous Receipts Rs.500.
Bills of Exchange drawn on and accepted by Customers during the year amounted to
Rs.10,000. Of these, Bills of Exchange of Rs.2,000 were endorsed in favour of Creditors.
An endorsed Bill of Exchange of Rs.400 was dishonoured.
Goods costing Rs.900 were used as Advertising Materials. Goods are invariably sold to
show a Gross Profit of 33-1/3 % on Sales. Difference in Cash Book, if any, is to be treated
as further Drawings or Introduction by Harihara.
Provide at 2.5% for Doubtful Debts on Closing Debtors.
Harihara asks you to prepare Trading and P&L A/c for the year ended 31st December, and
a Balance Sheet as on that date.
Ram Ltd has insured itself under a Loss of Profit Policy for Rs.3,63,000. The Indemnity
Period under the Policy is six months. On 1 September 2018, a Fire occurred in the
Factory of Ram Ltd, and the normal business was affected upto 1st March 2019.
The following information is compiled for the year ended on 31st March 201 9
Sales ' \ Rs.20,00,000
Insured Standing Charges | Rs.2,40,000
Uninsured Standing_ Charges tl{Rs.’l0,000 B

Net Profit | Rs.1,20,000

Following further details of Turnover are furnished.
e Turnover during the period of 12 months ending on the date of the fire was
Rs.22,00,000.
e Turnover during the period of interruption was Rs.2,25,000.
e Actual Turnover during the period from 1st Sep 2017 to 1st March 2019 (i.e.
during the preceding year corresponding to the Indemnity Period) was Rs.7,50,000.
Ram Ltd spent Rs.40,000 as Additional Cost of Working during the Indemnity Period.
Due to this Additional Expenditure —

Contd...6
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ges during the Period of

® There was a saving of Rs.15,000 in Insured Standing Char
Indemnity.
® Reduced Turnover avoided was Rs.1,00,000, i.e. but

Turnover after the date of fire would have been only Rs. 1,25,000. '
¢ reasons acceptable t0 the ins

for this expenditure, the

urer
A special clause in the policy stipulates that owing to th

under the special circumstances the following increases are to be made
® Increase of turnover standard and annual by 10%
® Increase in rate of gross profit by 2% from previous year’s level
Ram Ltd asks you to compute the claim for loss of profit. All computations should be to

the nearest rupee.

SECTION -D
Answer the following: (Compulsory)
On 1.01.2016, Shyam Ltd purchased a machine on hire purchase basis. The terms of
agreement provided for 40% as cash down payment and the balance in three instalments of
Rs.1,63,000 on 31.12.2016, Rs.1,20,000 on 31.12.2017 and Rs. 1,10,000 on 31.12.2018.

The rate of interest charged by the vendor is 10% p.a. compounded annually. You are

(10)

required to calculate the cash price and periodic interest charged by the hire vendor.

A ok ok ok ok ok ok ok
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St Aloysius College (Autonomous)
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B.Com. (Vocational) Semester III - Degree Examination
February - 2032
CORPORATE LAW

Time: 3 hrs. Max Marks: 100

I

10.
11,

12.

13,

14,
13,
16.

17,

SECTION - A
Answer any FIVE questions of the following:
Briefly explain Doctrine of Indoor Management.
Define Shelf Prospectus.

(5x2=10)

Briefly explain two features of a company.

Explain provisions of casual vacancy of statutory auditor. ST ALOYSIU , s
BRARY
7

Define charges under The Companies Act, 2013. > Fe
{ WMANGALURU - 5

State the exceptions to civil liability.
What is the provision relating to appointment of first auditor in a government
company?

SECTION -B
Answer any FOUR questions of the following:
Explain the procedure to be followed for the incorporation of the Company.
Specify the amounts received by Companies which shall not be treated as
deposits as per the rule 2(c) of Companies Rules, 2014.
Explain all the doctrines under The Companies Act, 2013.

(4x12=48)

a) Explain Unpaid Dividend Account. 6 Marks
b) Explain Investor education & Protection Fund. 6 Marks
a) Mr. N wants to start an OPC. What are the statutory provisions relating to
OPC? 6 Marks
b) Every company has to appoint one or more depositor trustee before
issuing circular. Explain. 6 Marks
a) State the procedure if the company wants to buy back its share.

6 Marks
b) Can a company voluntary revise its financial statement or board’s report?
if yes, under which provision? 6 Marks

SECTION - C

Answer any TWO questions of the following: (2x16=32)
Meaning of Memorandum. Explain different ctause of Memorandum.
Explain the concept and provisions of corporate social responsibility.

a) Explain powers and duties of Auditor. 6 Marks
b) Explain the CSR activities specified under Schedule VII. 10 Marks
SECTION - D

(10)

Answer the following: Compulsory
When an auditor detects fraud, how should he report under the Act?

ok e ok K R K K
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St Aloysius College (Autonomous)
Mangaluru
B. ; i
Com (Vocat:onal) Semester III - Degree Examination

February - 2022
INCOME TAX - I

Time: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. Person under section 2 (31) does not include
(a) Minor
(b) Local authority ST ALQYSIUS GOLLEGE |
(c) Unsound person LIB RARY
(d) none of these MANGALURU - 575 003 |

2. An Indian company is always resident in India.
(a) True
(b) False

3. How is the residential status of HUF determined?
(a) Number of days of stay of the Karta.
(b) Control and management of the affairs of the HUF.
(c) Both (a) and (b).
(d) HUF can only be resident.

4. S traced a missing person and was awarded a sum of Rs.1,00,00 although
there was no stipulation to that effect. Such receipt shall be
(a) Casual income and fully taxable.
(b) Casual income and exempt up to Rs.5000.
(c) Fully exempt

5. Which of the following income is not exempt under section 10?
(a) Share in total income of firm.
(b) Bonus on life insurance.
(¢) Income from agriculture in Lahore.
(d) Income from mutual funds.

6. An employee covered under Payment of Gratuity Act, 1972. If the employee
has completed service of 16 years 6 menths and 5 days, the number of

completed year shall be taken as
(a) 16 years
(b) 17 years
(c) 16 years 6 months and 5 days

Mr X is a member of a house building cooperative society who is the owner of
t. One of the flat is allotted to X. The income from such

flats constructed by i _
house property shall be taxable in the hands of -
(a) Co-operative society
(b) X as a deemed owner
Contd...2
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SECTION - B (4x12=48)
Answer any FOUR of the following.

ith
. ssessees Wi
. i ; r 'reﬁlde‘ﬂ‘t a
Compute the tax liability and marginal relief in the following situations: fo
ta?‘?b_b Income as under for previous year 2021-22. Chandru
_Mame of the Individtal | Arn ol e " 84 years a
Ao Oliha soonmane:  dbveme b yeas
ge of the assgssea ! 45 years b4 i, 1.01 Crores

Total Incom Rs. 1.01 Crores Rs. 1.01 Crores

ndia in the

hands of the recipients
1. Salary of Rs.7 lakhs paid by central government to MF.
India, for the services rendered outside India.
' : . 0 by a non-
2. Interest on money borrowed from outside India RS-5L’OQ'OO Y
resident for the purpose of business within India at Mumbal.
; i assessee
3. Post office savings bank interest of Rs.12,000 received by resident
Mr. Ram. . ied on
4. Royalty paid by a resident to non-resident in respect of business carri€
outside India. ) -
5. Legal charges of Rs.5 lakhs paid to a lawyer of United Kingdom who visited
India to represent a case at the Delhi High Court.

Jjohn, a citizen of

Rudra Ltd has one unit at Special Economic Zone and the other unit at
Domestic Tariff Area, the company provides the following details for the
previous year 2021-22.

: 3 Particﬁlh'_q:.;'; S il _:'_F!udr'.'a"le'{Rs.) / Unit in DTA (Rs.)
- Total Sales - 60000000 20000000
Export Sales 4,60,00,000 1,60,00,000
Net Profit 80,00,000 20,00,000

Calculate the eligible deduction under section 10AA of Income Tax Act, for the
Assessment Year 2022-23, in the following situations:

(a) If both the units were set up and start manufacturing from 22-5-2015.

(b) If both the units were set up and start manufacturing from 14-5-20109.

From the following particulars furnished by Mr.
31.3.2022, you are requested to compute his Total i
for the assessment year 2022-23.
(a)X retired on 31.12.2021 at the age of 58, after PUtting in 25 years and 9
months of service, from a private company situated at Mumbai
(b)He was paid a salary of Rs.40,000 per month and house rent. all
Rs.10,000 per month. He paid rent of Rs.13,000 Der Mibrith owgnce gf
tenure of service. Nth during his
(c)On retirement, he was paid a gratuity of Rs.6 lakhs.
the Payment of Gratuity Act. His average salary in thi:ie";:idnot Covered by
as Rs.37,500. Mr X had not received any other gratuity at maY be taken
earlier, other than this gratuity. NY point of time
(d)He had accumulated leave of 15 days per annum durin
service, this was encashed by him at the time of his re? the period of his
Rs.5,15,000 was received by him in this regard. His a FféMment. A sum of
taken as Rs.37,500. Verage salary may pe

X for the year ended
ncome and Tax payable

Contd...3
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Mr Nambi, a salaried

ol g €Mmployee, furnishes the following details for the financial

Basic salary - Rs.G,UO,DOO

Dearness Allowance - Rs.3,20,000

Commission - Rs.50,000 o

Entertainment allowance - Rs.7500

MEd":aI_ €XPenses reimbursed by the employer - Rs.21,000
Profess_:ona| tax, 50% paid by the employer - Rs 7(.;00f

Hgalth Insurance premium paid by the emplover.- Rs.9000

qﬁ: 'voucher given by employee on his birthday - Rs..21,000

Life insurance premium of Nambi paid by the employer - Rs.34,000

Laptop provided for use at h
ome. A ;-
Rs.30,000 ctual cost of laptop to employe

Emglofyer CQ”?Dany Owns a Tata Nano car, which was provided to Mr Nambi
both for official and personal use. No driver was provided. (Engine cubic
capacity less than 1.6 L)

Annual credit card fees paid by the employer (credit card is not exclusively
used for official purposes, details of usage is not available) - Rs.2000.

You are required to compute the income chargeable under the head Salaries
for the Assessment Year 2022-23.

Mr Krishna owns a self occupied property in Delhi. The house is having 2
identical units. First unit of the house is self occupied by Mr Krishna and the
other unit is rented for Rs.12,000 per month. The rented unit was vacant for
three months during the year. The particulars of the house for the previous
year 2021-22 are as follows
Standard rent - Rs.2,20,000 per annum ST ALQYSIUS CQLLEUE_:
Municipal valuation - Rs.2,44,000 per annum I\rAlr:(!,rBLuR A F‘: Y

Fair Rent - Rs.3,00,000 —— U - 575003 |
Municipal tax paid by Mr Krishna - 12% of the municipal valuation

Light and water charges - Rs.800 per month

Interest on borrowed capital - Rs.2000 per month

Insurance charges - Rs.3500 per month

Painting expenses - Rs.16,000 per annum

Compute income from House property of Mr Krishna, for the Assessment Year

2022-23.

SECTION - C

Answer any TWO of the following. (2x16=32)

Mr X retired from the services of Y Ltd on 31.1.2022 after completing service
of 30 years and 1 month. He had joined the company in 1992 at the age of 30
years and receive the following on his retirement.

(a)Gratuity Rs.6 lakh. He was covered under the Payment of Gratuity Act,

(b)ll._Zi;a encashment of Rs.3,30,000 for 330 days leave balance in his
account. He was credited 30 days leave for each completed year of service.
(c) As per the scheme of the company, he was offered a car which was
purchased on 1.2.2019 by the company for Rs.5 lakhs. ComPany has
recovered Rs.2 lakhs from him for the car. Company depreciates the

vehicles at the rate of 15% on straight line method.

Contd...4
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; 2/3 of his
el amount of Rs.3,00,000 as commutation of pension i
Pension commutation, _
(€)Company presented him a gift voucher worth Rs.6000 on his re

(f) His colleagues also gifted him a television worth Rs.50,000 fr©
contribution. T

(9) Following are the other particulars. He has drawn a ﬁasmeriod r;"rom
Rs.20,000 and 50% dearness allowance per month for the p

01.04.2021 to 31.01.2022
5 oF He iod 1.2.2022 t
(h)Received pension of Rs.5000 per month for the period 1.2 @

31.03.2022 after commutation of pension.
Compute his gross total income from the above f
2022-23

Mr Mahesh has three flats in Chennai, all the houses were self occupied, the
particulars of them a provided below.

tirement.
m their own

or the Assessment Year

Municipal Valuation 3,00,000 3.50_,000 3,30,000
Fair Rent 375,000 2,75,000 3,80,000
Standard Rent 3,50,000 3,70,000 3,75,000
Municipal Taxes paid 12% 8% 6%
Date of purchase/Completion 31.03.1999 31.03.2001 01.04.2014
Interest on loan for repairs - 55,000 -
Current year interest on loan for - - 1,75,000

purchase of property

You are required to advise Mr Mahesh which flats can be treated as self
occupied and the other deemed to be let out in a manner beneficial to him.

Compute the gross total income in the hands of an individual, if he is a (a)
resident and ordinarily resident, and (b) non-resident for the Assessment Year
2022-23.

_ i Particulars Amount (Rs.)
Interest from German derivatives bonds (1/3 received in India) 21,000

Income from agricultural land situated in Malaysia, remitted in

India 51,000

Income earned from business in Dubai, controlled from India 75.0
(Rs.20,000 received in India) ,000

Profit from business in Mumbai, controlled from Australia

1,75,000
Interest received from Mr Ashok (NRI) on loan provided to i
for business in India d B him 35,000
Dividends from Brown Limited, an Indian com pany 30.00
r 0
Profit from business in Canada controlled from Mumbai (809
of the profit deposited in a bank in Canada and 40% reng?t?e/g 60,000
to India)
Amount received from an NRI for use of know-how for hig
business in Singapore 8,00,000
Dividend received from foreign company in India
Past years untaxed foreign income bought to India =500
50,000

Contd...5
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the f i LIBRARY |
Answer the following: (Compulsory) MANGALURU - 675 003 | (10)

Khanna, an employee of x Ltd, a private company, received the following for

the previous year 2021-22, pasic salary Rs.3,20,000, house rent allowance

Rs.90,000, special allowance Rs,50,000. Khanna was. residing at New Delhi
and was paying a rent of Rs.10,000 a month.

(a)Compute eligible exem

Ption under section 10(13A) in respect of house rent
allowance received.

(b)If Khanna opts for rent free accommodation whereby X Limited, would be
paying a rent of Rs.10,000 per month and recovered a sum of Rs. 1,000 per
month, what will be the perquisite value in respect of such rent free
accommodation?

(c)Which of the above would be beneficial to Khanna, house rent allowance or
rent free accommodation?

Aok ke ke ok ok kR ok ok
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COST AND MANAGEMENT ACCOUNTING - 1
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Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5%2=10)
What are the advantages of integrated accounting?
What is a cost sheet? ST ALQYSIUS QOULLEGE }
What does direct expenses consist of? " AL,'«I; E_lﬁf_ 5R75\;.n |

What are the steps for the distribution of overheads?
What are the objectives of time keeping?
What are the different cost heads in a cost sheet?

What are the different methods of Time keeping?

SECTION - B
Answer any FOUR of the following. (4x12=48)

JOURNALISE the following transactions assuming that cost and financial
transactions are integrated:

Particulars Amount ]
(Rs.) B
Raw materials purchased 2,00,000 |
Direct materials issued to production 1,50,000 ,
| Wages paid (30% indirect) ~ 11,20,000 |
[ Wages charged to production 84,000 !
' Manufacturing expenses incurred 84,000 |
[ Manufacturing overhead charged to production 92,000
| Selling and distribution costs 20,000
Finished products (at cost) _ 2,00,000
Sales 3 2.90,000 ]
Closing stock __Nil
Receipts from debtors | 69,000 "
Payments to creditors | 1,10,000 |
The following data relates to the manufacture of a standard product during the month of
AE?riiculars o | Amount |
(Rs.) = !
Raw materials S - l’ggggg |
Direct wages >
Machine hg(;urs worked (hours) 10’200
Machine hour rate (per hour) T Jl
Administration ﬁﬂlﬂﬁ_(b’ﬂ“lm—l— 2y 5 1
Selling overheads (per unit) T SR
Units produced — 3,600 _11
Units sold e ——— — 1 135
| Sclling price per u™___ 2 cost sheet in respect of the above showing:

You are required to preparc a
()  Costper unit

(i) Profit for the month Contd...2



10.

11.

12.

G 364.3 page No.2

A machine costing Rs.1,00,00,000 is expected to run for 10 years. At the end of this
period its scrap value is likely to be Rs.9,00,000. Repairs during the whole life of the
machine are expected to be Rs.18,00,000 and the machine is expected to run 4,300 oy
PET year on the average. Its electricity consumption is 15 units per hour, the  rate per
unit being Rs.5. The machine occupies one-fourth of the area of the department and has
tWo points out of a total of ten for lighting. The foreman has to devote about one sixth of
his time to the machine. The monthly rent of the department is Rs.30,000 and the lighting
charges amount to Rs.8,000 per month. The foreman is paid a monthly salary of

Rs.19,200. Find out the machine hour rate, assuming insurance is @ 1% p.a. on

Rs.1,00,00,000 and the expenses on oil, etc., are Rs.900 per month.

In a factory, the basic wage rate is Rs.100 per hour and overtime rates are as follows:

Before and after normal working hours 175% of basic
wage rate
Sundays and holidays 225% of basic
wage rate
During the previous year, the following hours were worked
Normal time 1,00,000 hours
Overtime bgfore and after working hours ‘ 20,000 hours
Overtime on Sundays and holidays 5.000 hours
 Total 1.25.000 hours
The following hours have been worked on job ‘Z’
' Normal | 1,000 hours |
Overtime before and after working hrs. | 100 hours
Sundays and holidays 25 hours
Total 1,125 hours

You are required to CALCULATE the labour cost chargeable to job ‘Z* and overhead in

each of the following instances:

(a) Where overtime is worked regularly throughout the year as a policy due to the
workers’ shortage.

(b))  Where overtime is worked irregularly to meet the requirements of production.

(c) Where overtime is worked at the request of the customer to expedite the job.

The following information has been obtained from the records of ABC Corporation for

the period from June 1 to June 30.

Particulars On June 1 —OW
Amount (Rs) | Amount(Rs)

Cost of raw materials 60,000 50,000
Cost of work-in-process 12,000 15,000
Cost of stock of finished goods 90,000 1,10,000
Purchase of raw materials during June 2020 4.80,000
Wages paid 2,40,000
Factory overheads 1,00,000
Administration overheads (related to 50,000
production)

Selling & distribution overheads 25,000
Sales B o . @E’OOO

Contd...3
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Prepare a statemjm I%ivmg the following information:
@ Kaw materig]g c - .
®) Prime cost; M.
(¢ F actory cost;
(d) Cost of £00ds sold; and
(¢) Net profit.

13.

thirteen four-weekly period.

The company for the purpose of computing machine hour rate includes the direct wages
of the operator and also recoups the factory overheads allocated to the machines. The

following details of factory overheads applicable to the cost centre are available:
® Depreciation 10% per annum on original cost of the machine. Original cost of

the each machine is Rs.52,000,

S
. . [ e e
Maintenance and repairs per week per machine is Rs.60. LIBRAT

. MANCALURU - 575 003
Consumable stores per week per machine are Rs.75. = —

Power: 20 units per hour per machine at the rate of 80 paise per unit. No power
is used during the set-up hours.
Apportionment to the cost centre: Rent per annum Rs.5,400, Heat and Light per

annum Rs.9,720, foreman’s salary per annum Rs.12,960 and other miscellaneous
expenditure per annum Rs.18,000.

SECTION - C
Answer any TWO of the following. (2x16=32)
14. The following figures are available from the financial records of ABC Manufacturing
Co. Lid. for the year ended 31° March.

| Particulars Amount (Rs) —j
Sales (20.000 units) ' | 25,00,000 |
Materials 10,00,000 4‘
Wages 5.00,000 |

4,50,000
Factory Overheads - —1l
" Administrative Overhead (production related) DAY =
0,000
Selling and distribution Overheads b |
; 1,50,000 |
Finished goods (1,230 units) s

Contd...4
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16.

G 364.3
Particulars _W
_Work-in«Process:
Materials i
Labour #00
Factory overheads 20’00(1
Goodwill written off _-_.____
Interest on loan taken

In the Costing records, factory overhead is charged at 100% _
overhead 10% of factory cost and selling and distribution overhead at the rate o ;

per unit sold.

Page No.4

—Amount(Rs) |

]

——

70,000
2,00,000 |
20,000 |

“of wages, administrative

i L as pe
Prepare a statement reconciling the profit as per cost records with the profi per

financial records.

Two workmen, ‘A’ and ‘B, produce the same product using the same material. Their

normal wage rate is also the same. ‘A’ is paid bonus according to the Rowan system,

while ‘B’ is paid bonus according to the Halsey system. The time allowed to make the
product is 50 hours. ‘A’ takes 30 hours while ‘B’ takes 40 hours to complete the
product. The factory overhead rate is Rs.5 per man-hour actually worked. The factory
cost for the product for ‘A’ is Rs.3,490 and for ‘B’ it is Rs.3,600.

¢ COMPUTE the normal rate of wages
e COMPUTE the cost of materials cost

the two workmen.

PREPARE a statement comparing the factory cost of the products as made by

The following figures have been extracted from the Financial Accounts of a

manufacturing firm for the first year of its operation:

Particulars

Direct Material Consumption
Direct Wages

Factory Overheads

General administrative overheads
Selling and Distribution Overheads
Bad debts

Preliminary expenses written off
Legal charges

Dividends received

Interest received on deposits
Sales (1,20,000 units)

Closing stock:

Finished goods (4,000 units)
Work-in-Process

|

| Amount(Rs) |

50,00,000 |
30,00,000
16,00,000
7,00,000
9,60,000
80,000
40,000
10,000
1,00,000
20,000
1,20,00,000

3,20,000
2,40,000

Contd...5
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The

.56,00,000. ;
Re Factory Overhead is recovered at 20% on prime cost. Administration

erhead is recov i
ov ered at Rs.6 per unit of goods sold. Selling and distribution overheads
are recovered at Rs.8 per unit sold,

the :
Prepare Profit and Loss Accounts both as per financial records and as per cost
records. Reconcile the profits as per the two records

SECTION - D
Answer the following: (Compulsory) (10)
The following information has been ob

: tained from the records of ABC C ti
for the period from June 1 to June 30. ! e HHsIOn

i Particulars o OnJune 1 | On June 30
| Amount(Rs) Amount(Rs)
| Cost of raw materials o o 60,000 50,000
I Cost of work-in-process 12,000 | 15,000
| Cost of stock of finished goods 90,000 1,10,000 |
i Purchase of raw materials during June 2020 | 4.80,000
Wages paid 2,40,000
l Factory overheads 1,00,000 |
| Administration overheads (related to 50,000
production)
Selling & distribution overheads 25,000 |
Sales ] 10,00,000 |

PREPARE a statement giving the following information:
(a) Raw materials consumed;

(b) Prime cost; ST ALQYSIUS COLLEGE
(c) Factory cost; LIBRARY
(d) Cost of goods sold; and MANGALURU - 575 003

fe) Net profit.

oo o ok o b ok ok ok ok
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1. A)
1.

2
3
4
5.

B)

2

IL A)

L el R

. The pervasive bureaucracy em

Max. Marks: 100
UNIT -1 (PROSE)

Answer the following in a word/phrase/sentence each. (5x1=5)

Mention one of the traits that held Bruce Lee in good stead.

—
e S \

. Name one of the art forms inherited from the Tawaifs. ST ALQYSIUS {oLile
b mRARY
What was the common maritime activity for the British? L1% B AL

MANGALURU - 575 9_"___

phasized capital goods vis-a-vis consumer
goods. TRUE/FALSE R E -

The roots of Democracy are to be searched in the

Answer any FIVE of the following in about 150 words each. (5x5=25)

. Write a short note on the history of Indian indentured labour?

How did Bruce Lee match his passion for gung fu with his interest in
philosophy? Explain.

Trace the change in the social position of tawaifs from “respectable
courtesans” to “item girls.”

What are the obstacles that prevent the end of caste system in India?
Explain.

Explain Dr Ambedkar’s views on “graded inequality.”

How according to Murthy, has information Technology helped in designing

customer-friendly goods?

Write a short note on historian Veena Oldenburg’s account of tawaifs.
UNIT - II (POETRY)

Answer the following in a word/phrase/sentence each. (5x1=5)

‘O God! Can I not grasp them with a tighter clasp’? What is the speaker
unable to clasp in the poem, “A dream within a dream?”
What are Elengi, payanni, Vatta and thanni?

What has happened to the finest flower in the poem, ‘The Unquiet Grave?’

_ : w 0%
Who is the foeman according to the poem, “Time to die®

We sing, but the is vile. (complete the poetry line of the poem,

“We Wear the Mask.”) Contd...2

o3
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: (4x5=20
B. Answer any FOUR of the following in about 120 words each: ( )

{8
2.

3.

IIL.

IV. A,

The poem, “We Wear the Mask”, is a commentary on t‘l;e silence of the
suffering. How would you respond to the tone of the poem: bout his Tost
How does the poet create the atmosphere of gloom to talk -

love? Explain with reference to the poem, ‘The Unquiet (.3raveI;I does the
The mask becomes symbol of both hiding and revealing. o“‘;em ‘We
Poet justify wearing the mask? Explain with reference to the poem,
Wear the Mask . . d death
Write the relation drawn by the poet between existence, sacnlﬁci:e an

with reference to the life of the slave in the poem, “Time to Die. )
What makes the speaker in the poem state that ‘All that we see or seem, is
but a dream within a dream?’

Write a short note on the ordinary jobs done by the rural folk ar’xd i Tt
for these jobs with reference to the poem, ‘For the Dispossessed

UNIT - Il (SHORT - STORY)
Answer any THREE of the following in about 150 words each:
(3x5=15)

What changes did those fifteen years bring to the life and thoughts of the
old banker? Explain with reference to the story, “The Bet.”
How did the renunciation note of the prisoner affect the banker? Explain.

The chance element of the trial created excitement in the people who
attended these events. Comment on the medieval mind set of the

people.
Write a short note on the strange nature of the king.

Write a note on the experience of the prisoner in the first two years of
confinement. Why did the music stop in the second year?

UNIT - IV (Grammar and Writing Skills)

Read the following passage carefully and write a precis of the same,

S Marks

Books are a delightful society. If you £0 into a room filled with books even

without taking them down from the shelves, they se

seem to welcome you, seem to te]] you that they haye something inside
their covers that will be good for You and that they are willing to impart it
to you. Value them and endeavour to turn them to good account, As ?0 the
books which you should read there is hardly anything definite Lh t b

said. Any good book, that is wiser than yourself, wi]] teach yoy g a cif:l_n e
great many things directly or indirectly. If YOu mind be o - tOrInet mgh a
very wish and curiosity, you have to read it, indicate that Pen to lazar, the
who likes to get good out of it. You are a person
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hoose appropr;
B. C PPropriate words from the given list and fil in the ;‘;ii:o- ’

When I worked in Ney York City Smarks

_ : [ took the :
Jersey to work early in the "  —_ train from New
and heard my alarm g0 off sil(l)::?:]? %v Thanktully, : Wiz o ——_riser

out for a busy workd ay, 1 alw —sleeper. Before heading
: 4 . : ays the effort to make my bed. |
liked to make the time tq do so beﬁng my day, so when); gzt home

my bed was not a mesg s
- the time to b i : -
R —_— --0 b€ organized in the mornin
allowed me to relax whep larrived home after a long day at work g

(early / fast / Spending /light /made)

blanks 5x1=5
1. The' publishers are planning to a cheap edition of their new
dictionary.

Cofald you the volume a bit? [¢’g really loud.
Children may in class in an effort to get attention- oy
Fighting among a group of forty men. o1 ALQYSIUS QOLLEC |

Thereport the need for more staff, - ,.t,é EJ:UA_ S 5";03

PSS

(act up, break out, turn down, bring out, turn off, spell out, come up, set oIT)

D. Fill in the blanks with simple present/ Present continuous forms of
verbs given in parenthesis, S marks
I am currently travelling with Liam, a student from Leeds University in
England. He (be) a nice guy, but impatient. He (walk, always)
ahead of me and (complain) that I am too slow. I
(do) my best to keep up with him, but he is younger and stronger than
I am. Right now, Liam (sit) with the owner of the inn. They are
discussing the differences between life in England and life in Nepal.

E. Read the following context carefully and write a report in about 200
words. S marks

The PR Executive, Ms Neena Gomes of Elite Matrimony Pvt Ltd, an online
matrimonial company based of Bangalore, has requested you to make a
study of the changing market demands of youngsters look_mg for a sunta_ble
life partner. In particular, the organizatic.m 1s interested in how chapglng
salary packages, perceptions of society like caste, language, and religion,
and educational qualifications have altered the demands of youngsters.
There is a perception that today’s youngsters want to prioritize career over

marriage.

F. Read the following context carefully and write minutes of the meeting

; S marks

In about 200 words. _ - . :
The union members of the local rickshaw drivers assoc_latlon consisting of
the President and union representatives have a m'eetl;lgtt(;bflts:xgstsaoiz
possible implications of another lockdown. The meeting lasts S
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(5x2=10)

(5%x1=5)

(1x5=5)

(1x6=6)
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ADDITIONAL ENGLISH

Time: 3 hrs. Max Marks: 100
UNIT - I
(Prose)
I. Answer any ONE of the following in about 150 words: (5x01=05)
: What was the conflict between his personal and professional life that

Kalam is talking about in the excerpt taken from his autobiography? How
did he solve it?
2 What is garbling? How does Sayers illustrate this form of distortion?

I1. Answer any TWO of the following questions in 250 words each:
(2x10=20)

1. What were the hurdles that were faced by Kalam during his SLV-3 journey?
2. What are the various ways by which both fact and opinion can be distorted?
3. Describe Tagore's idea of Freedom?

UNIT - II

(Poetry)
I. Answer the following in about 150 words each: (4x5=20)

1. In the poem 'If', what are the qualities one should possess to become a
perfect man?

2. “Success is counted sweetest by those who ne’er succeed” Elaborate.

3. According to the poet, when should we keep calm?

4. In the poem 'If", how should a person develop humility in

o
>

ST ALQYSIUS (GLLEGE |

—

UNIT - III LIBRARY |
(Novel) MANGALURU - 575 003 |
I. Answer the following question in a sentence or two each: (1x5=05) )
1. Who is Hukum Chand in “Train to Pakistan”?
2. Who was Lala Ram Lal? How did he die?
3. Who is Igbal in “Train to Pakistan’?
4. Who is given in-charge of the Muslim properties?
5. Why does the village decide to stand by their Muslim neighbours?
II. Answer any TWO of the following in about 300 words each: (2 X 10=20)
1. Analyse the role of women in the novel “Train to Pakistan”?
2. In particular, comment on the very differing characterizations of the men

whose lives in the novel become intertwined: Igbal and Jugga. How does the
ending of the novel change, if at all, our view of each?
3. How relevant is the title “Train to Pakistan”?
Contd...2
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G 140.3
UNIT - IV
(GRAM MAR AND VOCABU LARY)
(10)
L) Read the passage given below.

race. It is the

as old as the human 18 1
toal?(m humid climate, Ioamy soil rich in
| cultivation and processing methods

Cardamom, the queen of all spices, has a his
dried fruit of a herbaceous perennial plant. W
organic matter, distributed rainful and special C in aroma, flavour, size and it
all combine to make Indian cardamom truly unigue in roducred in India. The first
has a parrot green colour. Two types of carda_mqm are pas € I not trated T e
type is the large one, which has not much srgmﬁcanc;:‘ ey, THE SHEARE e
future market. It is cultivated in north-eastern area of the Ch futL;re markat, Thics
is produced in the southern states and these are traded in i\e s thes AUture Marices
are mainly cultivated in Kerala, Tamilnadu and K;rnataka. ssp Bt (Grer 1t rélied
rules, only 7 mm quality was previously traded'm exchang - - Carda’mom e
its norms and now 6 mm quality is also traded in H1e e langknc.)wn in two main
expensive spice, secondly to safforn. Indian cardamom Is el
varieties : Malabar cardamon and Mysore cardamom. The My;ore v ly’ l

leaves of cineol, limonene and hence is more aromatic. India is the world’s argeSE
producer and exporter emerged as the leading produ_cef and exporter of
cardamom.The main harvest season of cardamom in India is between _August—
February. Cardamom reaches at yielding stage two years after the plantation. The
primary physical markets of cardamom are Kumtly_ Vand'enmodu, Jhek‘kady,
Puliyarmala in Kerala and Bodynaikkaur and Cumbum in Tam'slnadu. Kerala is Ithe
main producer of cardamom and contributes upto 60% in total produ.ct:on
Karnataka produces around 25% of the total productioncardamom. Ooty is the
main producer of cardamom in Tamilnadu and contributes around 10-15% of the
total production. Besides India, Guatemala also produces around 1,000-2,000 ton

cardamom per year. Due to low quality of cardamom from Guatemala, it remains
available at cheaper rates.

1. Mysore variety contains leaves of :
(a) Limonene
(b) Cineol
(c) Both (a) and (b)

(d) None of these

2. Indian Cardamom is:
(a) Poor in quality
(b) Average in quality
(¢) Better in quality
(d) None of these

3. Guatemala produces cardamom :
(a) More but poor in quality
(b) Less but good in quality
{(c) More and good in quality
(d) Less and poor in quality

4. Main harvest season of cardamom in India js :
(a) August-February
(b) August-March
(c) November
(d) February-April _

5. Cardamom reaches at its vielding stage in, :
(a) Immediately after plantation '
(b) Depends upon the plantation
(c) One year after plantation
(d) Two years after plantation

Contd...2
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India produces cardamom of :
(a) One type
(b) Two types
(c) Three types
(d) None of the above
7. Which of the following is the variety of Indian cardamom?
(a) Malabar cardamom
(b) Mysore cardamom
(c) Both (a) and (b)
(d) None of the above
8. 'E;V?;csil/of the following production of cardamom produces by Karnataka?
a (o}
(b) 10%
(c) 15%
(d) 60%
9. Find the synonym of the word ‘distributor’ given in the passage 3.
(a) Expensive
(b) Known
(c) Producer
(d) Exporter
10.The synonym of the word ‘fragrance’ given in the passage 3.
(a) Aroma
(b) Variety
(c) Contain
(d) Hence

II. Write a dialogue where you are being interviewed for the post of a
lecturer. (1x5=05)

III. You have to speak in the morning assembly and tell the students about
the benefits of Yoga. Write a speech in 150-200 words. (1x5=05)

IV. Give one word substitution for the following (1x5=05)

(patricide, glutton, bonfire, posthumous, gourmet, bonsai, regicide, cartographer)

1. The one who loves good food and knows a lot about it o . e
2. A person who draws maps [« SLLEG
3, Published after someone’s death i Y

451. A person who eats too much | MANGALURU - 575 0C

-
»
L r—

The act of killing a king

V.) Fill in the blanks with appropriate CLICHES given in the brackets:
(1x5=05)

(the beginning of the end, a bed of roses, as easy as ABC, in the same boat, as a
matter of fact, at death's door, the alpha and the omega)

1.) , I was talking to him this afternoon.

2.)Jane was so ill that she was for three days.
3.)She's always complaining that she doesn't have enough money, but we're all

4.) Who said life would be ?

5.) Joe's failing two of his courses was
afterward.

: he dropped out soon

sk 3¢ ok sk ok e ok o kR KK K
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Time:

February - 2022
FRENCH
3 hrs. Max Marks: 100

L. Répondez aux 10 Question (10%2=20)

1
A
3
4.
5
6
7
8

g

Que signifie la phrase * Il voit la vie en rose.’

Que signifie la phrase * Il a donné son feu vert.’

Donnez deux qualité qu’on doit avoir si on est avocat.

Donnez deux qualité qu’on doit avoir si on est le chef d’entreprise.

Nomez les sports plus pratiquez en France.

Si vous aimez le couleur vert donnez de caractére.

Si vous detester le couleur noir donnez de caractére.

Quelle sont les sujets de conversation qu’on peut avoir avec un francais si on s’entend
bien.

Quels sont les sujets de conversation qu’on peut faire si on s’entend bien en France ?

10. Quel repas des Frangais peut durer pour au moins 3 heures ?

11

. Dans les restaurants, qu’est-ce qu’on vous apporte gratuitement ?

II. Remplissez avec le bon verbe (5x1=5)

E.h:l:xb)l\)._.

III.

o LN —

IV.

B =

_Lll

(avancer — reculer - partir - arriver - revenir - reprtir— redescendre - monter - traverser —
accompagner)

ST ALOYSiUS GOLLEGE
Elle a la montagne. Elle a pied. LIBRARY
Il le pont. MANGALURU - 5675 603 |

Les courageux ___ et les peureux
Je vais au médecin, si tu peux, tu peux m’
Le 8 mai, 2 9 heures, il ___ a Marseille de Paris. A midi, il & Marseille. Le 10 mal, il

___aMarseille. Le soir, il __chez lui, & Paris.
Transformez les phrases en passive. (5x1=15)

20 septembre, vote de la loi des finances.
2004, inauguration du pont de Millau.
3 juillet, vol de quatre tableaux au musuée.
Construction d’un nouveau stade I'année prochaine.
Les enfants ramassent les fruits.
Transformez les phrases en passive. (5x1=5)
Un homme est renversé pas la voiture.
L’ambulance a été applelée par les passants.
Les témoignages seront ontorroges par la police.
Les éléves font les exercise.
La petition a été signee par nos amies.

Contd...2
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V. Conjugez les verb au Subjectif

Il faut que tu (faire)........ des efforts.

11 ne faut pas que vous (parler)......... pendant le cours.
Il est important qu’il (aller)....... a son rendez-vous.

Il faut que tu ( étre) ........ 3 I’heure chez le médicin.

Je serrai ravi qu’il (réussir) .....son concours.

bk W=

VI. Rapporter des paroles en direct

Le prof a dit qu'il pleuvait. Le prof o e ORI
Jean dit qu’il a mangé de fruit. Jean dit “eversanens
11 dit qu’il ne sortira pas. Marie dit “.............
11 dit q’il va rester chez lui. Mac e § g
Alexandre dit qu’il va faire le tour du monde. 11 dit qu’i

vos e

VIL Rapporter des paroles en indirect
« Je I'attendrai demain. » Iladitqu'il ........
« Elle est venue ici hier. Il adit qu'elle ........

« Je pense 4 elle depuis hier. »Il raconte qeiliiaaeen
« Un jour, je serai animateur de télé. »11 a affirmé qu’un......

J’ai vu une animatrice de télé. Il a 15 3

N

VIIIL. Mettez au temps convenable
1. S’il pense a vous, il vous ........ (écrire)

Si tu as soif, ...... (boire) de I’eau.
ST NOUS.crennrrans
Si je vais a Touba, je ....... (voir) la 20sque a Touba.
Si j*étais ata place, je ....... (changer)tous.

Si vous étiez parfait, vous ....... (faire) du ski de fond.
i | — (finir) le travail ils préféraient partir plus tot.

. Si tu pratiquais, tu ....... (réussir) ton examen.
10. Si tu as I’appareil photo, ....... (prendre)une photo.

9 90 ¥ O D e W D

IX. a. Complétez avec le conditionnel
) RT— rencontrer 1’actice francais. (aimer)
W msasism a I’école demain. (arrive)

NOUS <.vvees plus de dix milles. (vendre)

Les enfants ....... des excursions a ’étranger. (faire)

—
—
w

1:.; 4

Si le train ne ne marchait pas, il .....(prendre) I’avion pour New York.

(avoir) le temps, nous nous proménerions dans le bois.

page No.2

(5%1=5)

(5%1=135)

(5%1=135)

(10%1= 10)

(5%1=5)

b. Utilisez le présent conditionnel et écrivez un texte Sivous gagniez une lotto de

10,000 euros, Qu'est-ce quevous feriez?

X. DIALOGUE

(5x1=15)

(10x1= 10)

1. Vous devez faire une activité originale( prominade a cheval,tour sur les montagnes russes

d’une foire etc) Mais deux d’entre vous ne sont pas d’accord.
ou

2. Un(e) ami(e) est parti(e) seul(e) en vacances dans un pays étranger. Elle devait rentrer il

y a trois jours. Vous n’arrivez pas a avoir de ses Nouvelles.

Contd...3
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xI. Ecrivez une Lettre (10x1=10)
gi vous avez visité des pays étrangers ou a un ami (e ) parlez des habitudes qui vous ont
frappé( €)

XIL Comprehension 10

Le frangais est la deuxiéme langue étrangere en Inde, aprés I'anglais. Parce que c'est une
langue facile a apprendre et une culture intéressante a connaitre, le frangais est tres
populaire parmi les autres langues étrangéres comme le russe et I'allemand. Dans le
milieu international, le frangais est une des langues officielles des Nations Unies
(I'ONU).
L’Inde a une population non négligeable de francophones. Dans les régions comme
Pondichéry, Yanam, Karaikal, Chandannagore et Mahe, le frangais était toujours la
premiére langue. Ces régions sont des anciens territoires frangais en Inde. Dans leurs
territoires, les Frangais ont encouragé le frangais comme langue de travail. Méme
aujourd'hui, 4 I'école d'Auroville  Pondichéry, le francais est la langue d'instruction.
La propagation et l'enseignement du frangais en Inde sont la responsabilité de I'Alliance
francaise et du Centre Culturel de I'Ambassade de France. Il y a aussi plusieurs instituts
et universités. ou le francais est sujet principal. Ils offrent des cours a temps partiel et a
plein temps.
L'Université de Delhi a Delhi, I'Université Jawarharlal Nehru, situé a Delhi,|'Université
de Poona & Poona et Central Institute of English and Foreign Languages (CIEFL) a
Hyderabad sont quelques instituts qui offrent des programmes de licence (BA) en
francais en plein temps. Pour obtenir une admission a ces instituts, il faut terminer les 12
ans d'études a I'école (10+2). Ces programmes donnent a un étudiant la possibilité de
suivre une carriére de “professionnel de langue ”. Pour des étudiants moins sérieux, ils
ont l'option d'un cours & I’ Alliance frangaise.

En Inde, il y a toutes sortes de personnes qui apprennent le frangais—Iles étudiants, les

cadres, les officiers du gouvernement, les couturiers, etc. Enfin, le frangais, c'est « a la
mode ! » e e
| ST ALQYSIUS o L l
LIBRARY |
MANGALURU - 575 003 ]
Q.1 Répondez : = (1x2=2)
(i) Pourquoi le frangais, est-il trés populaire ?

(i) Qui la responsabilité pour la propagation du frangais en Inde ?

Q.2 Cochez la bonne réponse : (1x2=2)
I. Ce texte :

(1) raconte la vie des Frangais en Inde.
(ii) parle d'une soirée 4 I'ambassade de France en Inde.
(iii) donne des conseils aux étudiants qui veulent apprendre le francais en Inde.

[I. Un institut qui enseigne le frangais en Inde est :
(i) Max Mueller Bhavan.
(if) Kamani Auditorium.
(iii) Alliance Frangaise.

el oA
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(1X4 = 4)

Q.3 Complétez avec les phrases du texte: I'Allemand. (officielles /

; sse et
(i) Le francais est populaire parmi les langues comme la ru
€trangeres /anciens)

lles / territoires)
(ii) Le frangais est une des de I'ONU. (francophones / langues BIIECES

) il {e. (population
(iii) L" Alliance Frangaise a la ...... pour la propagation du frangais €n By

résponsibilité / école)

N : ns, d'études.
(iv) Pour obtenir une admission a instituts....... terminer les 12 a
(il faut / ils offrent | apprendre)

(1x2=2)
Q.4 Dites vrai ou faux :

(i) L'Inde a une population non négligable de.: francophones.......

(ii) Pondichéry et Yanam n'ont pas le frangais comme langue........

st sk sk ok o ok ok e sk ok o koK K K
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MALAYALAM

Time: 3 Hours Max. Marks: 100
I. 20MEMo A1goaI M 006, (3x5 =15)

1. ©0mo enoud myemenongo €nJO@s, oo

@ommenodam), cuasl milaam.,
2. @00m ®eym iy “aflslwomawesacens)

&05 s ilegen), 2NN ls) 6w 2InNenng”. ST AI.(}YS!US_(..-'1 \'{'“l'
3. “@Roy mlwmyRomly mldamleanuacn@anmm MAL;J(IBEUFS"-:-" ;15 003

CODLENISHEN EMODEMIBE mladenyom) Beo?

4, Bowvy, Bajemlaigl,@)emean?, (nuem,memry
MOBEO S0 2YEMER)oUd M dyruy@Nen)sow’ mon,

II. mmrmrmsmm’lm; &)01ap) @YONOBH) (3x5=15)
5. nfldamdaslendn (oalemezoui] GO e Audsmleaymemeaslam?
6. adldedasinmn @ 2@l @o NNrudles) e
7. aolw Olniemileno soruamlene eanadonilss MNPe @) alosdosmeamesarlnm?
8. Mn@dovlslwee mmmﬁm&mmmﬁmyﬂg udemlen) e
III. sacepamlm oerr) allnemlod  enilwonm RIGEICLLIDIC IS (1x10=10)

9. MM @eenoud MMl Alamdn amqilenes @somjenow
2lmU8 agaomones?

10. ®RUSSODIOE oI5 allslmomaw AMAORISME R3OS el @ameasiam?
Iv. BO0sROWIM’ e anoom SNWIOD DTS ™) 6; (1x10=10)
11, n~dlmeimdaulendn andel 00mA 2wloaomen) ] aflludlen) e
12, onmn@avislelees (aiwom OO S8001a] nilniclen)s
V. Bo0SREmIM’ aymyanoomal SOWIOD EDONASY®) > (1x15=15)
13, @logenss)0s (‘!ﬂnx@&mi)@ sMgane ABONEH)M &) Gnflm@osny
mgrﬁm;mmfa—mmfﬂmcﬁa;&

14, ovomie auye s@0milajino ®le)ss @yosnimwe &aloea@ eall
@A {l2lolen)mamsalam 2
VI. Socqpemlay ajmianeme ejnwoam OO D) &> (1x15=15)

15.  adlmdeimdousoe EMmeEBagen)nlajlo @oNIOLOS BOMO@@N)N1ajlo 201681 nfludlens

16.  ~dlddeindouwlondn myeu; cusnioms QUMEBBBOREMM AIN@) MO NSI6TE?

VII motep@milay aymyanemicd ejn@onm DODONLE) )& (1x15=15)

17, 2om00 slgomm B0} (nieangle@oom amynsamai-auomiaicrun@milen zogyd
Nilemadion suoyes aomaleonimnne aNeuojomlasncss cmaddlens

18. Mo ~BooaruInme MQONIHN) B>

VIII, (1x5=5)

mlenizme DQON0GN) &

Yulaqal
19. mogan FNWHOS (aIwom @)SIAUBBEMOMAVID )80 “Uom‘ﬁﬁﬂm“zm o
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FOUNDATION COURSE IN HUMAN RIGHTS AND VA

G701.3

Examination

LUE EDUCATION

Max. Marks: 50
Time: 2 Hours

PART - A
HUMAN RIGHTS

I. Answer the following in one sentence each. (1x5=5)

1. Expand UDHR and Mention the date of its adoption.

2. What is meant by citizenship rights?

3. Who is the present chairman of National Human Rights Commission in India?

4. Who appoints the Chairman and members of the Mmorttq.WiETm
5. Who founded PUCL? LIBRA RY

MANGALURU - 575 003 1§

II. Answer any ONE of the following in 8-10 sentences each. (5x1=5)

Write a short note on the challenges faced by transgender.
In September 1999 a sex worker in Calcutta was murdered by a prospective
client after she refused to have sex with him. When the case (Budhadhev
Karmaskar Vs State of West Bengal) went to the Supreme Court, the Latter
passed a landmark judgment, stressing prostitutes right to lead a life of dignity
as well.
a. Is ‘Right to life’ a Fundamental or a Human Right? (1 Mark)
b. How do you justify the judgement of the Supreme Court? (2 Marks)
c. Suggest some effective measures for the rehabilitation of women sex
workers in India. (2 Marks)

III. Answer any ONE of the following in 15-20 sentences each. (10x1=10)
8. Explain the origin and development of Human Rights.
9. Explain the role of NGOs and IGOs in protecting human rights.

IV. Answer any ONE of the following in 30-35 sentences each. (15x1=15)

10. Explain the powers and functions of Amnesty International.

11. Discuss the rights enshrined in the UDHR.
Contd...2
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PART - B
VALUE EDUCATION - (5x1=5)

Answer any ONE of the following in not less than a p
Define Marriage. Explain the significance of marriage.

N ; milies.
Define family. Explain the characteristics of dysfunctional =

(10x1=10)
Answer any ONE of the following in not less than two

pages.
Discuss the methods of family planning.

. i tor that
What are the signs and symptoms of miscarriage Explain the risk fac

lead to miscarriage.
5 ok K kK ok ok ok kXK



